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ITPE/[HC/IOBHE
lIpeonacaemoe Bawemy snumanuio yueobnoe nocobue npeoHazHa4eHo
0JI51 UCNONBL30BAHUSL 8 YUeOHOM npoyecce CMmyOeHmamu CneyuaibHocCmell
«@unancwl u kKpeoumy» u «byxeanmepckuil yuémy Ha 3aeepuiaroujem smane
00yYeHUs UHOCMPAHHOM) 513bIKY 8 HESI3bIKOBOM 8)'3€.

Ilocobue cmasum ceoeli yenvito NOO20MOBUMb CMYOEHMO8 K
UMEHUI0 OPUSUHATILHOU Jumepamypuvl no yKazauhou memamuke. OHO
sknoyaem  credyrowue — memvl.  «DUHAHCOBLINL  MEHEONCMEHM Y,
«byxeanmepckuu  yuémy», «@unancosvle omuémoly, «bankosckas u
Gunancosas cucmemvly, «MHeecmuyuu, puck u ynpaeieHue pPUCKaMuy,
«Cmpaxosotl ousnecy, « PblHKU YeHHbIX Oymazy.

B nocobuu ucnonvzosamvl cospemeHHble Mamepuaivl U3
OPUCUHANBHBIX AHSTUUCKUX U AMEPUKAHCKUX UCMOYHUKO8 C YUEMOM UX
NO3HABAMENbHOU YEHHOCMU U AKMYAbHOCIU.

llocooue cocmoum u3 5 onas, exmoyawwux 12 memamuyeckux
YUKTI08-YPOKO8, 8 KaMCOblll U3 KOMOpbIX 6xooum 2-3 mexkcma Kax Ojis
usyuaroweco, max u 0as 0O3HAKOMUMENIbHO20 U NPOCMOMPOBO2O UMEHUSL.
Kaorcowviti yuxn umeem memamuueckuti CNUCOK Cl08 U BbIPANCEHUU OJisl
AKMUBHO20 YCBOEHUSL U NOHUMAHUS MEeKCMOo8 Ol U3y Yaruje2o 4meHus,
NPeoOmeKCmoBblX U NOCAeMEeKCMOBbIX VNPAXICHEHUU K HUM, KOMOopbvie
npedycmampugarom pabomy ¢ mepMuHoI0SUYeCKUM CILO8APEM Nocodus, a
makdice  NPOBePKY  NOHUMAHUAL — NPOYUMAHHOZO. Texcmvt  Ha
O3HAKOMUMENIbHOe U NPOCMOMPOBOE  UMeHUe MmMaxKxce CHAOHCEeHbl

YAPAUCHEHUAMU HA 6blpa607/l/IKy HABbLIKO6 06M4€Huﬂ U NOHUMAHUA MEKCMOeE.



PART 1
UNIT 1. FINANCIAL MANAGEMENT

Reading 1

1. Work in groups and discuss these questions:

a. What do you think the objectives of a financial department usually are?

b. Are there financial departments only in profit-making organizations?

2. Read the following pairs of words of the same root and translate them.

a) To arrange — arrangement, to equip — equipment, to pay — payment, to
ship — shipment, to manage — management, to govern — government.

b) To form — formation, to produce — production, to reflect — reflection, to
fix — fixation, to computerize — computerization.

3. Find the Russian equivalents in the right column for the English words

and word combinations in the left column.

1) favorable terms a) 3aKasaTh NMapTHUIO JAeTanei

2) to put funds to use b) obGopynoBaHHE JOJITOBPEMEHHOTO
TI0JIB30BAHUS

3) to be used to capacity C) BBITOJHBIC YCIOBUS

4) durable production equipment d) omradynBaTh cueTa 3a IEKTPUUECTBO

5) to build up inventories €) co31aTh TOBAPHO-MaTepHAIbHBIC
3amachl

6) to pay electric bills f) ybenutbcs

7) to make sure g) UCMOJb30BaTh JACHEXKHbBIE PECYPCHI

8) to order a batch of parts h) MoJHOCTBIO UCIIOIB30BATH

IIPONU3BOACTBCHHBIC BO3MOKHOCTHU



Text 1. Financial Management

Finance is the process of getting the funds a firm needs and putting
them to use. The financial manger’s job is to arrange for the firm to get
the funds it needs on favorable terms and to make sure they are used
effectively. This job must be done not only in businesses but also in not-
for-profit firms and units of government.

It 1s likely that the firm would need new equipment for production new
products or the firm’s general equipment was already being used to
capacity or the firm’s office staff would need new computers and filing
cabinets. Durable production equipment like this is called fixed capital.

But funds to buy fixed capital would not be the only fund. A firm
would also need funds to build up inventories. Inventories are a form of
capital. First, the firm would have to buy parts and materials to make the
products. As it began production, it would have to pay workers. It would
also have to pay electric bills to run the machines. These payments would
be reflected in a growing inventory of finished and partly finished goods.
The funds a firm needs for all of these uses, from the time the first batch of
parts is ordered until the finished goods are shipped and paid for, are
known as working capital. All firms need both fixed and working capital.
4. Find the words and word combinations in the text that mean the same

as the words and word combinations below:

current capital to raise capital  to be loaded
advantageous conditions to be certain long-lasting equipment
to operate machines Inventory the first lot of parts

government organizations



5. Speak on the following on the basis of the text:

1. What are the duties of a financial manager?

2. What is meant by fixed capital? (Give two or three examples).
3. What do inventories include?

4. Why do firms need working capital?

Reading 2
6. Give the Russian equivalents for the following English word

combinations using the vocabulary at the end of the unit:
Crucial factor, receipts and expenses, capital purchases, long lead time, to
quote rates, flows of costs, to result in large changes, to compare budgets
with flows of funds, to foresee different circumstances, to carry out plans

correctly, to be alerted for corrective actions.

7. Match up the words and expressions in the box with the definitions

given below.

lead time fo quote a rate interest rate  circumstances
working capital to be alerted to fixed capital accounting revenue

a. The return from property or investment.

b. The process of capturing, processing, and communicating financial
information.

c. Capital in the form of durable structures, machinery, and equipment.

d. To be ready to do something.



e. Funds used to pay for labor and materials between the time when
production 1s begun and the time when finished goods are shipped and
paid for.

f. Conditions affecting a person or something, especially financial
conditions.

g. The money a loan pays as a percentage.

h. To state the price of something.

1. The time needed to perform an activity (i.e. to manufacture or deliver

something).

Text 2. Financial Planning and Control

The financial manager’s duties include planning for the use of both
fixed and working capital. The crucial factor in planning the use of
working capital is the timing of receipts and expenses. The firm must plan
to have enough working capital available to cover costs from the time
production is begun until the customer pays for the product.

As a firm grows, machines wear out, and technology changes, firms
need new buildings, equipment, computers, and other kinds of fixed capital.
Many kinds of fixed-capital purchases have long lead times. These long
lead times mean that it is crucial to include financial planning in the firm’s
strategic planning process.

There are many possible sources of funds for a firm, including
revenue from sales of its product, investments by its owners, and loans.
The financial manager must plan ahead in order to tap the best source of

funds for each need at the time when it is needed.



Good planning is required not only to have funds when they are
needed but also to get them at the lowest cost. Getting funds at the lowest
cost is more than a matter of finding the bank quoting the lowest rates
today. It is partly a matter of fitting the sources of funds to the purposes for
which they will be used. It is partly a matter of balancing sources of funds.
And it 1s partly a matter of timing selling stock when the stock market is
booming, not borrowing when interest rates are high, and so on.

Controlling is a key job of all managers. It is especially important for
financial managers. Profits are a small amount that is left over after large
flows of costs are subtracted from large flows of revenues. Financial
managers must watch costs and revenues closely, since small changes in
either can result in large changes in profits.

Budgets are one of the tools of financial control. A good system of
financial controls constantly compares budgets with actual flows of funds.
When they don’t match, it is a sign that circumstances have changed in
ways that were not foreseen in the plan, or that plans are not being carried
out correctly. In either case, managers are alerted to the need for corrective
action.

Accounting is another subject of financial control. The purpose of
accounting is to keep track of sources and uses of funds and to give an

accurate picture of the firm’s financial state at all times.

8.Complete the following sentences which summarize the text above.
1. One of the most important functions of the financial manager is ..... :
2. Every firm must have enough working capital for ..... :

3. Long lead time requires to include ..... :



4. One of the sources of funds is revenue from ..... .

5. Good planning also means to get funds ..... .

6. Getting funds at the lowest cost is often the matter ..... :

7. Financial managers must control costs and revenues because ..... .
8. If budgets don’t match flows of funds it means that ..... :

9. Accounting watches sources and uses of funds in order to give ..... .

Reading 3
9. Match each word in A with its synonym in B.

A. Proprietor, to report to, liaison, to be in charge of, in contrast, major,
implication, authority, concern, to affect.
B. To influence, unlike, to be answerable to, interest in, power, meaning, to

take care of, link, owner, main.

10. Find the English equivalents in the right column for the following

Russian words and word combinations in the left column.

1. cMoTpeTh 3a mpeaebl a) to draw on funds

2. TJIaBHBIN OTUMHEHHBIN b) to affect flows of funds
3. mpejyiaratb HOBYIO TOPTOBYIO Mapky  ¢) on their own

4. BHYTpEHHHE 00513aHHOCTH d) key officer

5. rJIaBHOE JIOKHOCTHOE JIUIIO e) to make decision

6. IpUHUMATH PEIICHUE f) internal concerns

7. caMOCTOSITEILHO g) to bring out a new brand
8. BIMATH Ha MOTOKU JIEHEKHBIX cpeacTB h) key subordinate

9. UCNoNB30BaTh JECHEKHBIC CPEICTBA 1) to look outward



11. Study the difference between some American job titles and the British

ones. These are the equivalents.

USA G.B.

President Chairman

Chief Executive Officer (CEO) Managing Director

Vice President Director
Vice-president Finance Finance Director
Financial Controller Accountant

Director (e.g. Personnel Director) | Manager (e.g. Personnel Manager)

Accounts department Accounting department

12. Read the text and then decide whether the statements following it are
true or false.
Text 3. Financial Managers

In a small business, the proprietor takes care of finance along with all
the other management tasks. A more complex division of labor is found in
large corporations. Not all corporations divide up the work of financial
management in the same way, but the structure shown in the picture is
typical.

The chief financial officer (CFO) reports to the president and has
equal rank with the heads of marketing, operations, and other major
departments. The CFO is often given the title of vice-president for finance.
The CFO is in charge of all financial activities and act as liaison with the
heads of marketing and operations and any other managers who draw on

the corporation’s funds.

10



The CFO has two key subordinates. The first of these is the
treasurer. The treasurer’s job is to manage the firm’s cash, securities and
credit policy. He or she acts as liaison with financial institutions such as
banks and securities markets.

The second key officer who reports to the CFO is the controller. The
controller is in charge of accounting and, usually, financial planning and
budgeting. In contrast to the treasurer, who looks outward toward the

financial markets, the controller’s focus is on internal concerns.
9

President I

Vice-President | Chief | Vice-President |

for Operations Financial for Marketing
Officer

Treasurer I Controller I

The CFO, the treasurer, and the controller are not the only people in
the organization who make financial decisions. In fact, all business
decisions have financial implications. A marketing manager’s decision to
bring out a new brand and to spend money on advertising for it affects
flows of funds into and out of the organization. So does a personnel
manager’s decision to introduce a new system of merit pay. So does a
production manager’s decision to close a plant. When decisions like these

involve large sums, they are made in direct consultation with the CFO.

11



Small financial decisions may be made independently by marketing or
production managers. In a multi-plant firm, local plant managers may be
given authority to make some financial decisions on their own.

In fact that all business decisions affect the firm’s finance also means
that financial managers need to learn something about all aspects of the
firm’s operations. This is one of the reasons that finance is so often a route

to the top in the corporate world.

1. All corporations divide up the work of financial management in the same
way.

2. Vice-president for finance has somewhat a lower rank in comparison
with the heads of other major departments.

3. The Treasurer watches the financial market and serves as a link with
financial institutions.

4. The Controller is responsible for financial planning, budgeting, and credit
policy.

5. All financial decisions which involve financial expenditure even of small
amounts are made by CFO.

6. In order to make a right financial decision the financial manager should

have the idea of all firms operations.

13. Summerize the process of financial management in a typical large

firm on the basis of the figure in the text (7-8 sentences) .

14. Choose the right form of the verb.
1. Currently our company ...... a new financial plan.

a) develops b) is developing c¢) has been developing

12



2. The company ...... costs before the customer paid for the product.
was covering b) had covered c) covered

3. These machines ...... by the time new ones are purchased.
a) will have worn out b)will wear c) will be wearing

4. Usually firms ...... funds from some sources.
a) get b) are getting c¢) have got

5. The firm ...... already these funds for purchasing raw materials.
a) spent b) has spent c) had spent

6. Last year this bank ...... the lowest interest rate.
a) was quoting b) had quoted c¢) quoted

7. Budgets ...... actually flows of funds if circumstances don’t change.
a) matched b) will have matched c¢) will match

8. Personnel department ...... a new system of merit pay since the
beginning of the year.

a) has been introducing b) introduced c) had introduced

9. He took the position of Vice-president for finance after he ....... as

Financial Controller for 5 years.

a) worked b) had been working c¢) was working

15. In pairs or groups discuss the following questions.

1. What is management?

2. Is it an instinct or a science, a set of skills or techniques that can be
taught?

3. What are the duties of a financial manager?

4. Which four of the following qualities do you think are the most

important for a financial manager?

13



a) being friendly and sociable

b) being logical, rational, and analytical

c) being able to communicate with people

d) being competent: knowing one’s job perfectly

e) being able to motivate and inspire people

f) having good ideas

g) being highly educated and knowing a lot about the world
h) being decisive: able to make quick decisions

i) being authoritative. able to give orders

J) being prepared to work 50 to 60 hours a week

5. Are there any qualities that you think should be added to this list?

6. Which of these qualities can be acquired? Which must you be born with?

Essential words and phrases

Accounting
Advertizing

To affect

To be alerted to

To arrange for

Authority

Batch

A bill

(To) borrow(er)

To bring out a new brand

To be in charge

OyXTranTepCKUil yuéT

pekiiama

BIIUSThH, HAHOCUTD yIIEpO

OBITh TOTOBBIM, OBITH OJUTEIHHBIM
OpraHU30BHIBATh, YCTPANBATh,
JIOTOBapUBATHCS

TTOJTHOMOYHE

napTus, cepusl, rpyIra

CUET K OIljIaTe

3aHUMAaTh, 3aEMIIUK

npejyiarath HOBYI0 TOPrOBYIO MapKy

PYKOBOJUTH

14



Chief financial manager
Circumstances

Concern

Controller

Costs

To cover costs

Crucial

To draw on

Durable

Expenses

To fit to

Fixed capital

Flow
To foresee

(To) fund

Implication
Interest rate
Internal

Inventories

To keep track

yopaBisiiomui puHancamu
00CTOSATENHCTBA

3a00Ta, MHTEpEC, 0OSI3aHHOCTh
TJIaBHBIN OyXrajaTep KOHTPOJIED
pacxobl, 3aTpaThl

TTOKPBITh PACXOJIbI

pelarnii, KpUTUIECKUN

UCIIOJIb30BaTh, PUBJIEKATH (CPE/ICTBA)

JUIMTEIILHOTO OJIb30BaHUS
pacxoibl, U3AEPKKHU
COOTBETCTBOBATh, OTBEYATh
TpeOOBaHUIM

OCHOBHOU KaIlMTaj, OCHOBHBIC
CpeacTBa

MIOTOK

PEABUJIETh

KamnuTal, IeHbIU, PECYPCHI,
(bUHAHCUPOBATH 3aéMHBIMHU
CpelcTBaMU

CMBICJI, 3HAUCHHE

MPOLICHTHAs CTaBKa

BHYTPECHHUU
MaTepHUaJIbHO-MPOU3BOACTBEHHbIC
3aIachl

OTCJICKHNBATD

15



Key subordinates

Lead time

Liaison

To look outwards
To make decision
To match

Merit pay
Non-for-profit firm
Operations department
To order

Profit

Proprietor

(To) purchase

To quote

Rate

Receipt

To report to
Revenue
Route
Securities
To ship
Sign

Stock

OCHOBHBIE TOJYNHEHHEIC
BpeMsI BEITIOJTHEHHUS 3aKa3a, BpeMs
OCBOCHMSI HOBOM MTPOAYKIIUU
CBsI3b, CBS3YIOIIEE 3BEHO
CMOTPETH 3a TPEICIIBI
MPUHUMATh PEIICHHE
COOTBETCTBOBATh

npeMusl, To1jiaTa, Ha10aBKa
HEKOMMepUecKasi OpraHu3arius
OTIepaIlMOHHBIN OT/IET

3aKa3, 3aKa3bIBaTh

MPUOBLIH

COOCTBEHHHUK, BJIaJeIel]

IIOKYIIKA, ITOKYIIAaTh

Ha3HA4aTb LICHY, IPOUCHTHYIO CTABKY

Tapud, HOpMa, CTaBKa
JIEHE)KHOE MOCTYIUICHUE, I0XO0,
KBUTAHIIHS

MOJUUHATHCS

JIOXO/I, BRIpyUYKa

yTh, MApUIPYT

IIEHHbIE OyMaru

OTHPAaBJISITh, IOTPY3UTh
MpU3HAK, 3HAK

dKIIysA, 3a11ac
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To subtract — BBIYMTATH

To tap a source — HCIOJIb30BaTh UCTOYHUK

Timing — pacnpeaesieHue 1Mo BpEMEHU, CPOKaM,
KOOpIUHAITUS

Treasurer — yOpaBJISIONIMNA pUHAHCAMH,

3aBeyIOMNUN (PUHAHCOBBIM OTAEIIOM
Unit — OpraHuzalms, ojapasacicHue

Working capital — 0OOPOTHBIN KamuTaI

UNIT 2. USES OF FUNDS

Reading 1

1. Read and translate the pairs of words of the same root.

a) to manage — manager, to own — owner, to supply — supplier, to use —
user, to hold — holder, to save — saver, to produce — producer, to collect —
collector, to purchase — purchaser, to pay — payer, to receive — receiver

b) reason — reasonable, to receive — receivable, to pay — payable, value —
valuable, to count — countable, to compare — comparable, purchase —

purchasable, to manage — manageable, to acquire — acquirable.

2. Find the Russian equivalents in the right column for the English word
combinations in the left column.
1) purchase of raw materials a) y»ecTtoyaTh NOJUTUKY KPEIUTOBAHUS
2) to meet operating expenses b) naBaTh (IPUHOCUTD) JIUKBUJIHBIC
aKTUBBI
3) reduction of liabilities C) MpeBpaTUTh BBOJHBIE PECYPCHI B

3aKOHYCHHBIC U3 ACINA

17



4) outside the firm d) UMeTh YTO-TO B HAIMYMH JIJISI
MOCIIEAYIOIIETO UCTIONb30BaAHUS
5) checking account balance  €) 3akymnka ChIPEBBIX MaTEPHAIIOB
6) to count inventories as f) cokpatuTh MOTPEOHOCTH B
current assets 00OpOTHOM KarmuTase

7) to have something available g) 3a npenenamu komnanuu

for use

8) to convert inputs into h) cokparenue (YMEHbBIICHHE)
finished goods 3a10JKEHHOCTH

9) to yield liquid assets 1) TIOKPBITH 00IIeDUPMEHHBIE PACXOIbI

10) just in-time-production J) cuUHUTaTh TOBAPHO-MAaTEpUAIIbHbBIC

3amachl Kak TeKYINe aKTHBBI

11) to cut working-capital k) cBoeBpeMeHHOE MPOU3BOJICTBO

needs

12) to tighten credit procedure 1) OGananc Tekymiero cuéra

Text 1. Managing Assets

As funds come into the firm from sales and other sources, financial
managers must decide how to use them. Operating expenses — purchases
of raw materials, parts, and supplies; payment of wages and salaries,
interest, utility bills, and taxes — are the biggest use of funds for most
firms. As the figure shows, any surplus funds left over after operating
expenses have been met can be used in one of three ways: for increasing
assets, reduction of liabilities, or payments to owners.

o [ncreasing assets. A firm’s assets are all the things of value that it

owns and that are owed to it. Cash payments due from customers,

18



inventories, equipment, buildings and land are assets. Any increase in assets
1s a use of funds.

e Reduction of liabilities. A firm’s liabilities include everything that it
owes to parties outside the firm. They include bank loans, payments due to
suppliers, and taxes.

e Payments to owners. In proprietorships and partnerships, all funds
left over after increasing assets or reducing liabilities belong to the owners.
In a corporation, funds that the firm does not retain for its own uses are

paid out to shareholders as dividends.

Liquid
i Assets
Expenses
Current Accounts
Assets Receivable
Increase
Funds from Assets
All Surces Inventories
Reduce
Liabilities
Fixed
Capital
Payments Fixed
to Owners Assets Land

Current assets are assets that the firm expects to hold for a year or
less. They fall into three groups. First, there are liquid assets. These
include coins and paper currency, checking account balances and other
kinds of bank deposits, and certain kinds of securities. Second, there are
accounts receivable. These are sums owed to the firm by customers who

have bought on credit. Third, there are inventories of inputs and finished

19



products. Since most inventories are used and sold within a year, they are
counted as current assets.

The main reason for holding current assets is to have them available
for use as working capital. Working capital is not a type of asset. Instead,
the funds, used as working capital, move through the cycle. Liquid assets
are used to buy inputs; the inputs are converted into finished goods; the
goods are sold on credit, creating accounts receivable; and accounts

receivable are collected, yielding liquid assets.

Liquid
Assets
Accounts Inventories
Receivable of Inputs
\ Inventories
of Finished
Goods

It 1s important to economize on the use of working capital. Any funds
that are not needed for working capital could be used to pay off liabilities,
thereby saving interest costs. They could also be used to buy fixed capital
or paid out as income to owners.

One way to cut working-capital needs is through better inventory
management. Material requirements planning and just in-time-production
systems are two ways of doing this.

Another way to cut working-capital needs is to reduce accounts

receivable by tightening credit procedures. In order to control costs while

20



offering credit to their customers, some firms sell their accounts receivable
to collection specialists called factors. The factors pay less than the full
face value of the accounts receivable they buy. In return they offer
immediate cash.

A third way to cut working-capital costs is through better cash
management. This refers to managing liquid assets in a way that produces
the maximum possible income. For example, coins and paper currency
produce no interest income, but short-term government securities,
certificates of deposit, and a type of overnight loan called a repurchase
agreement, do produce interest income.

Fixed assets are those that a firm expects to hold for more than a year.
These include fixed capital (buildings and equipment) and natural resources
(land, mineral resources, and so on).

One of the duties of financial managers is to decide when to use
available funds to acquire fixed capital instead of adding to current assets,
reducing liabilities, or making payments to owners. In making this kind of
decision, the financial manager must compare the cost of the new capital
with the added revenue or cost savings that it will produce

The process of deciding what fixed capital to acquire is called capital
budgeting. Such decisions are complex because the benefits of added

fixed assets usually come in over a period of years.

3. Find the words in the text which mean the following:
a) sums owed to a firm by customers;
b) assets that a firm expects to hold for a year or less;

c) current account;
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d) to produce as a result, profit, interest, etc.;

e) to get or to buy something;

f) the process of deciding what fixed capital to acquire;

g) arranging for inventories to be delivered to the assembly line just in
time to be used;

h) without delay or instant;

1) to keep strict control;

j) a stockholder.

4. Answer the following questions to the text.

9.

. What do operating expenses include?

. What three purposes can any surplus funds be used for?
. What do current assets include?

. Why must any firm hold current assets?

1
2
3
4
5.
6
7
8

How could any funds that are not needed for working capital be used?

. What are two ways of better inventory management?
. Why do some firms sell their accounts receivable to factors?

. In what way can better cash management produce the maximum

possible income?

What do fixed assets include?

10. What must the financial manager compare while making decision to

acquire or not fixed capital?

11. Why is the decision to acquire or not fixed capital a complex process?

5. On the basis of the text and the figures speak on the following topics:

1. Four main ways of spending funds coming into the firm from all sources.

2. Three groups of current assets.
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. The cycle through which working capital moves.
4. Three ways of cutting working-capital needs.
. Fixed assets and complexity of making decision whether to acquire or

not fixed capital.

6. Translate the sentences paying attention to the forms of the verbs.

. Raw materials have already been purchased.

2. After operating expenses had been met surplus funds were used for
payment dividends.

3. We hope this batch of finished goods will have been sold by the end of
the month.

4. At the present moment the question what fixed capital to acquire is being
decided.

5. The benefits of added fixed assets will be got only in two years.

6. Some corrections in the financial plan were being made for a whole
week.

7. Last year he was promoted to the post of Financial Director.

8. While marketing plan was being designed the financial department was
waiting for it to be ready to start working on its own planning.

9. Some changes have already been made in capital budgeting.

Essential words and phrases
Accounts receivable — c4€T JeOUTOpPOB, cueTa K TMOJYUYEHHUIO,
IeOUTOPCKas 3aJI0JKEHHOCTD
To add — 1100aBJIATH

To acquire — MOKyNaTh, NpUOOpPETATH
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Benefit
Capital budgeting

Certificate of deposit
Checking account
balance

To compare

To convert

To count

Current assets

(To) due

Face value
Factor

Immediate

Income
Input

In return

Just in-time-production

Liabilities

Liquid assets

Operating expenses

Overnight loan

NpUOBLIb, BHITOJIA

010/ PKETUPOBAHUE KAITUTAIOBI0KEHHUI,
COCTaBJICHHE CMET KalUTaJIOBI0KCHUN
JIETIO3UTHBIN CepTH(UKAT

OajaHc TCKYLICTO YCKOBOT'O cuéra

CpaBHUBATH
peBpaliarh

CUUTATh

TEKYIINE aKTHBBI

TIOJIJIeXKAITUI BBITUIATE, 3aIUIATHTH
MPUYHUTAIOIIYIOCS CyMMY

HOMHUHAJIbHAsI CTOUMOCTh

dakTop, pakTopHass KOMITAHUS
Oe30TiaratenbHbIi, HEMEJICHHBIN,
HETIOCPEICTBEHHBIN

J0XOJ

BIIO’KEHMSI, 3aTPaThl, BBOJIHBIE PECYPCHI

B OOMEH, B OTBET,

CBOEBPEMEHHOE TIPOU3BOJICTBO
00s13aTENBCTBO, 3aJ0JPKEHHOCTD, TTACCUBHI
JUKBUIHBIC AKTHBBI, OBICTpOpEATH3yEMbIC
CpelcTBa

obmegupMeHHBIC PACXOIbI

OJIHOJTHEBHAS CCYJa
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To owe

(To) own(er)
Paper currency
Partnership

To reduce
Reduction

Repurchase agreement

To retain
(To) save(er)
Shareholder
Short-term
Supplier
Supplies
Surplus

(To) tax

To tighten

Utility bill
Value
To yield

OBITh TOJKHBIM

BJIAJIETh, COOCTBEHHHUK

OyMa)kKHBbIC ICHBI'H

NapTHEPCTBO, TOBAPUIIIECTBO
YMEHBIIIATh

YMEHBIIIEHUE, COKpAIIICHUE

COTJIAIIEHHE O MOKYIIKE IIEHHBIX OyMmar ¢
MOCJICAYIOIUM BBIKYIIOM Yepe3 CYTKH
COXpaHSITh, yAEPKUBATh

SKOHOMHTh, COEperaTh, BKJIQTUUK
aKIIMOHED

KPAaTKOCPOYHBIN

IIOCTABILHNK

BCIIOMOTAaTEJIbHbIE MaTEPUAJIbI, PECYPChI
M3JIAIIEK, H30BITOK

HaJjor, o0JaraTh HaJIOroM

CKUMAaTh, YXKECTOUYATh MPOLETYPY,
KOHTPOJIb

CYET 32 KOMMYHAJIbHBIC YCIYTH
IIEHHOCTh, CTOUMOCThH

JlaBaTh, MPUHOCUTH JOXO/T
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UNIT 3. SOURCES OF FUNDS

Reading 1
1. Translate the following pairs of words paying attention to the prefix —

“un”.
Profitable — unprofitable, secured — unsecured, real — unreal, certain —
uncertain, successful — unsuccessful, pledged — unpledged, limited —
unlimited, economic — uneconomic, durable — undurable, available —

unavailable, mortgaged — unmortgaged, funded — unfunded.

2. Match words and word combinations in A with their synonyms in B.

A. To choose, a corporation, real estate, household, to repay, secured,
willingness, to save money, a share, to raise funds, institution, to tap
sources, to go into debt, common, to turn to.

B. Wish, a firm, to select, to refer to, usual, to get into debt, real property,
family, to return money, guaranteed, to draw on sources, a part or

portion, organization, to collect money, to store up money.

3. Find the Russian equivalents on the right for the English word

combinations on the left.

1) interest-earning liquid assets | a) BbICTynaTh B KaueCTBE MTOCPEIHUKA
2) long-term sources b) akimoHnepHoe (PUHAHCUPOBAHUE

3) a set return C) KOMITaHUSsl, TPUHOCAIIAS] TPUOBLITH
4) to pledge certain property d) paborarh B yOBITOK

5) to fail to repay the loan €) HE MOTaCHUTh CCYAY

6) to pay back the loan f) 3am0uTh KaKOE-TO UMYIIECTBO
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7) to operate at a loss g) MOCTOSIHHAS MPUOBLITH

8) a profitable firm h) B oOMmeH Ha oberianue

9) to act as an intermediary 1) JTIOITOCPOYHBIE HCTOYHUKH
¢buHAHCUpPOBaHUS

10) equity financing J) JUKBUIHBIC aKTUBBI, TPUHOCSIINE

A0XOAbI B BUAC ITPOLICHTOB

11) in return for a promise k) moracuts ccyny

Text 1. Sources of Funds

Choosing among uses of funds is only half of the job of financial
management. The other half is choosing among sources of funds. In a small
firm this is one of the many tasks of the owner, in a large corporation, it is
part of the treasurer’s job.

The first of the major sources of funds and the largest for most firms

is revenue from sales of goods and services. In a profitable firm this
source is enough to cover all costs, with some left over. Many firms need to
draw on other sources as well, however. If the firm is operating at a loss, it
will need some source of funds besides sales in order to cover current costs.
Even if it is operating at a profit, the surplus of revenue over costs may not
be enough for the purchases of assets, reduction of liabilities, and payments
to owners. If the firm wants to tap sources of funds other than sales
revenue, it can turn to one of the following.
o Debt financing. The firm can get funds for any use by going into debt.
The term debt refers to any process by which the firm gets cash or some

other asset in return for a promise to pay an agreed-upon sum plus
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interest. Borrowing from banks and making purchases on credit are
example of debt finance.

e FEquity financing. If the firm does not want to go into debt, it can raise
funds from owners. This is known as equity financing. Owners who
contribute equity capital are not promised a set return. Instead, they get a
share of future profits, if any, and a voice in the management of the firm.

e Sales of assets. Some firms hold interest-earning liquid assets in addition
to working capital. These assets can be sold to raise funds when needed.

Buildings, equipment, real estate that a firm no longer needs can also be

Revenue
from Sales

Debt

sold to raise funds.

Fund for
All Uses

Equity

Sales of
Assets

Sources of funds can also be viewed along the following dimensions.

o Short-term versus long-term. Short-term sources are those that provide
funds for a year or less. Long-term sources provide funds for more than a
year.

o Secured versus unsecured. The borrower pledges certain property to the
lender to guarantee payment, the debt is said to be secured. The property
that is pledged is called collateral. A mortgage loan is a common form of

secured debt; if the borrower fails to repay the loan, the lender takes over
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the property used as collateral. Debt that is backed only by the borrower’s
willingness and ability to repay is said to be unsecured.
o Source of funds. All funds except revenue from current sales come from
someone’s savings. Sometimes households invest their savings in firms
directly, as when the owner of a small business buys new equipment for the
firm, or when a person buys stock in a corporation. In other cases, people
put their savings into institutions like banks that act as intermediaries
between savers and borrowers.
4. Match up the words on the left with the definitions on the right.
1. tolend a. a long-term loan secured by land or buildings
2. to pledge b. members of a group of assets that include coins
and paper currency, bank deposits, and certain
kinds of securities
3. equity financing c. debt that is backed only by the borrower’s

willingness and ability to repay

4. collateral d. rights to land and buildings
5. secured debt e. settled by mutual consent
6. real estate f. property that is pledged as a guarantee for

repayment a debt
7. agreed upon g. debt for which repayment is guaranteed by
pledging a certain property to the lender

8. unsecured debt h. any process by which a firm raises funds in

return for a share in its ownership and

management
9. mortgage 1. to give or hold as security for a payment
10. liquid assets J. to let out money at interest
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5. According to the text, are the following sentences TRUE or FALSE?
If they are false, say why.
1. Choosing among sources of funds is the second part of the treasurer’s
job.
2. In a profitable firm revenue from sales is not enough to cover all costs.
3. Sometimes firms operating at a profit tap sources of funds other than
sales revenue.
4. Debt-financing is getting cash or some other asset in return for a
promise to pay settled sum plus interest.
5. Owners who invest equity capital are promised a set return and get a
share of future profits.
6. Interest-earning liquid assets are part of working capital and cannot be
sold by a firm.
7. The difference between short-term sources and long-term sources is
duration of time for which they provide funds.
8. Debt that is backed by the borrower’s willingness to repay is called a
secured debt.
9. If the borrower is not able to repay the loan the lender takes over his
property.
10. Corporations raise funds when people buy stock from them.
11.People with savings act as intermediaries between banks and borrowers.
6. Speak on the following:
a) What sources of funds the financial managers have at their disposal
according to the figure in the text.
b) What types of debt exist according to their duration and guarantee of

repayment.
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Reading 2

7. Translate the following English word combinations referring to the
vocabulary at the end of the unit.
Common form of unsecured short-term debt; bargaining power; to extend
extra trade credit; to keep a checking account; to deposit cash register
receipt; to be familiar with something; to ask for collateral for a loan; a
prime rate; to have good credit ratings; to give written promise; to be not
always the case; to supply funds to a firm; to use unsecured lines of credit;
a set maturity date; to pay interest at an agreed-upon rate; to issue
convertible bonds; common stock; to draw on their own savings; to go

public; to raise stock’s value.

8. Four major types of debt are referred to in the following text. Look
through the text and say which they are.

Text 2. Choosing Among Sources of Funds

Financial managers have to take many factors into account in
choosing among sources of funds. First, we will cover unsecured short-term
debt, then secured short-term debt, then long-term debt, and finally equity.

Trade Credit. The most common form of unsecured short-term debt is
trade credit. Trade credit means purchases on credit goods for resale or
materials to be used in production.

Trade credit i1s widely used by wholesalers, retailers, and
manufacturers. It tends to be more important for small firms than for large
ones. The reason is that large firms often have better credit ratings, more

bargaining power with banks, and greater access to other sources of funds.
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In times when credit is hard to get, large firms often extend extra trade
credit to smaller customers in order to keep their business.

Unsecured bank loans. Unsecured bank loans are a second major
source of short-term funds. Firms usually get unsecured loans from the
bank where they keep checking accounts, deposit their daily cash register
receipts, and so on. A bank that is familiar with a firm’s way of doing
business and knows that it is creditworthy need not ask for collateral for
each and every loan. The interest rate at which large banks make short-term
loans to their most creditworthy customers is known as the prime rate.

Large firms with very good credit ratings are often able to borrow
short-term funds from other nonfinancial firms, insurance companies, and
even individuals, as well as from banks. In return for these unsecured short-
term loans, they give written promises to repay that are known as
commercial paper.

Secured short-term debt, in which current assets are used as collateral
for loans, is another common source of funds. One might expect secured
short-term loans to be less costly than unsecured loans because they present
less risk to the lender, but this is not always the case. For one thing,
secured loans require more paper work than unsecured loans because
specific assets must be pledged to the lender. Also, lenders are willing to
supply funds to creditworthy firms without collateral, so that in practice,
secured loans are used more often by firms that do not have good credit
ratings or have used up their unsecured lines of credit.

Firms that need funds for more than a year can use several kinds of

long-term debt. The most important of these are bonds and mortgages.
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A bond is a promise to repay a certain sum on a set maturity date
and, in the meantime, to pay interest at an agreed-upon rate. Maturity dates
are commonly ten to thirty years from the date of issue, but longer and
shorter terms are possible. The interest payments are usually made twice a
year, and are fixed for the life of the bond.

Bonds may be secured or unsecured. Secured bonds are backed by
pledges of items of fixed capital, such as factory buildings. Unsecured
bond, called debentures, are backed only by the firm’s ability to repay.
Sometimes firms issue convertible bonds. These can be exchanged for the
shares of the firm’s common stock at a stated price, usually higher than the
stock’s price at the time when the bond is issued.

A mortgage 1s a long-term loan secured by land or buildings.
Mortgages are the main way of financing houses, apartments, and
commercial developments. Owners of small businesses often raise funds
with mortgages on their own houses as well as on their business property.
Mortgage lenders may be banks, insurance companies, or other financial
firms.

Equity financing include all funds that are contributed by owners of
the firm. The sources of equity funds for a new firm depend on its form of
organization. Proprietorships and partnerships draw on the savings of
their owners, who are also the firm’s managers. Corporations raise equity
funds by selling stock sometimes to the firm’s founders and managers, and
sometimes to the public.

As a firm grows, there are three ways in which it can raise more

equity funds. First, the owners can contribute more. Proprietors or partners
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can put more funds into the firm from their personal savings. New shares of
stock can be sold to a corporation’s present shareholders.

Second, the firm can bring in new owners. A proprietorship can
become a partnership or corporation. A partnership can incorporate or bring
in new partners. And a corporation can issue new shares of stock, selling
them to people who are not among its present shareholders. (When a
closely held corporation offers to sell stock to anyone who is willing to buy
it, it is said to be “going public™).

Third, the firm can obtain equity funds by keeping some of its profits
for reinvestment. Profits that are held for reinvestment rather than being
paid out to shareholders as dividends are known as retained earnings.
Using retained earnings as a source of funds does not increase the number
of shares in the corporation. However, because each share represents part
ownership of a firm with more total capital than before, retained earnings

tend to raise the stock’s value.

9. Find words and expressions in the text that mean nearly the same.
To bring in new partners producer to prolong urrent account, security
or guarantee the amount receivedy no meansto be held as security

unsecured bondso invest to publish or to put fourth stock cost

10. Match the words to make word partnerships from the text.

1. creditworthy a. trade credit

2. to extend b. savings of owner
3. to supply c. short-term debt
4. secured d. company



5. the interest
6. to draw on
7.1t0 go

8. to raise

e. funds
f. public
g. the stock’s value

h. payments

11. Complete the table on the basis of information you derived from the

text.

I. Trade credit

1. Trade credit means ...... .

2.1t is mostly used

because ..... i

by

II. Unsecured bank loans
1. Firms usually get this loan from ... ...
2. The bank does not ask for collateral

3. Large firms may borrow short-term
funds from ......

III. Secured short-term debt

1. In secured short-term debt

current assets ... ...

2. Secured loans require more

3. In practice secured loans are

used more often by

IV. Long-term debt

1. A bond may be defined as ......

2. In contrast to secured bonds,
unsecured bonds ... ...

3. Convertible ~ bonds  can  be
exchanged for ......

4. A mortgage can be defined as ......

5. Mortgages are used for ......

V. Equity financing

1. In proprietorships and partnerships the sources of equity funds are

...... , and corporations raise equity funds by ...... .

2. The first way to raise equity funds for firm’s development is ...... .

3. Second, the firm can ...... .

4. Third, the firm can hold ...... .
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12. Summarize the text on the basis of the completed table.

13. Choose the right form of the verb in the bracket in the Active or
Passive Voice.

1. Currently the firm (is operating/is being operated) at a loss.

2. After all costs (had covered/ had been covered) some funds left.

3. If the right sources of funds (are chosen/will be chosen) the company
will do well.

4.1 (have put/put) excess money into my current account.

5. After the borrower (failed/had failed) to repay the loan, his property
(was taken/took over) by the lender.

6. Equity funds (have been raised/have raised) by selling stock.

7. Some profits (were reinvested/had been reinvested) in new machinery

last year.

14. Translate the following sentences and explain the meaning of
modals.
1. The required information could be obtained if you have access to
Internet.

2. I don’t doubt you must have received an accurate picture of the financial
position of the company.

. I suspect revenues must have been falling for at least a month.

. It could have been a coincidence but it was unlikely.

. We will have to select some other source of funds.

. Without doubt credit terms must be changed.

N N Dn B~ W

. Without doubt credit terms must have been changed.
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8. According to the contract he was to pledge some property to guarantee

repayment.

9. Convertible bonds can be exchanged for shares.

10. You needn’t phone him, he is already here.

11. You needn’t have phoned them, the money has already been transferred

to their account.

Access to

In addition to
Agreed-upon
To back

Bargaining power

Bond

Cash

Cash register receipt
Not to be the case
Checking account
Collateral
Commercial paper
Common stock
To contribute
Convertible
Credit rating
Creditworthy

Essential words and phrases

JOCTYT K
KpOMe, TOMUMO
COTJIACOBAHHBIN, PELIEHHBIN
o0ecrnieunBaTh, raApaHTUPOBATH

PBIHOYHAA BJIACTb, IIO3BOJIAIOIIAA OTCTAUBATD
CBOH MHTCPECCHI

oOuranus

HAJWYHBIC JICHBI'H
KaccoBas BhIpyuYKa

HE BCErja Tak

YEKOBBIM, TEKYIIUN CUET
obecrieueHue
KOMMepUecKkas Oymara
OOBIKHOBEHHAS aKIUsA
BKJIQJBIBATh
KOHBEPTUPYEMBIN
OIICHKA KPEIUTOCITOCOOHOCTH

KpGI[I/ITOCHOCO6HOCTB
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Debenture

Debt financing
Dimension
Equity financing
To extend

To be familiar with
To fail

To go public

A household
Insurance
Intermediary
(To) 1ssue

[tem

Lender

Lines of credit
Long-term
Mortgage
Mortgage loan
Maturity date
To operate at a loss
To pledge

Prime rate
Profitable

To promise

Property

obnuranus (He obecriedeHHast 3aKJIaHOM )
(dbUHaHCUPOBaHKE 32 CUET 3aEMHBIX CPEJICTB
CTOpPOHA, aCMEKT, XapaKTep, mapaMeTp
(¢brHaHCUpPOBaHUE MMYTEM BBIITYCKA aKIIUN
POJIJIEBATH, IPOJIOHTUPOBATH

OBITh 3HAKOMBIM, 3HAThH

OKa3aThCs HE B COCTOSTHUU

CTaTh KOMITAHUEW OTKPHITOTO TUTIA

CEMbS, XO3UCTBO

CTpaxOBaHUE

MOCPETHUK

BBITTYCK, BBIITYCKAaTh, BHIJIaBATh

PEAMET, MMyHKT, MO3UIUS

3alMO/IaBell, KPEAUTOP

KpEIUTOBAHUE B ONPEACIIEHHBIX Mpeienax
JIOJITOCPOYHBIN

3aKJagHas

ccy/a MoJi HEABUKUMOCTb

JaTa ToranieHus

paboTaTh B YOBITOK

OT/IaBaTh B 3aJIOT

0a3ucHas CTaBKa MPOIEHTa

MPUOBLITBHBIHN

o0eIars

HMYIICCTBO, COOCTBEHHOCTh
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Proprietorship
To raise funds
Real estate

To repay
Retailer
Retained earnings
Saving
Secured

Set return
Share

Source

To supply
Trade credit

Unsecured
Wholesaler
Willingness

€AUHOJIMYHAs COOCTBEHHOCTh
MIpUBJICYb CPEJICTBA
HEJIBUOKUMOCTD

BO3BpallaTh, OTAABATH JOJT
PO3HUYHBIN TOPrOBELL
HepacrpeenéHHas TPUObLIH
coOepexeHue

oOecIeueHHbIN, TapaHTUPOBAHHBIT
TBEPIbIi, MOCTOSTHHBIN 10X0]1, TPUOBLIH
TIOJISI, aKIIMS

HUCTOYHUK

cHa0XXaTh, 00eCIIeYnBaTh

KOMMEPYECKUN KPEIUT, 1eOUTOPCKas
3a10JKEHHOCTD

HE0OECTICUeHHBIN, HerapaHTUPOBAHHBIN
ONTOBBIN TOPTOBEI

T'OTOBHOCTD, KCJIaHUC
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PART II

UNIT 1. ACCOUNTING, THE LANGUAGE OF FINANCE

1. Useful language. Read the following numbers.

Years
1984 nineteen eighty-four
2006 two thousand and six

Currencies

£3.15 three pounds fifteen

$7.80 seven dollars eighty

€250 two hundred and fifty euros
¥125 one hundred and twenty-five yen

Decimals
16.5 sixteen point five
17.38% seventeen point three eight percent

0.185 (nought/zero) point one eight five

Bigoer numbers

and sixty(BrE)

sixty(AmE)

and ninety-eight thousand, three
hundred and fourty seven (BrE)
ninety-eight thousand, three hundred

3,560 three thousand five hundred|

598,347  five hundred

fourty seven (AmE)
and two (BrE)

1,300,402 one million three hundred thousand,
two (AmE)

four hundred
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Im one/a million (1,000,000)
3bn three billion (3,000,000,000)
$7.5bn  seven point five billion dollars
and seventy-eight million euros (BrE)

€4,78m  four hundred - o
seventy-eight million euros (AmE)

2. Translate into Russian the following groups of words of the same root.
To negotiate-negotiation-negotiator; to state-statement; to supply-supplier;
to perform-performance-performer; to use-user-useful-usefulness; to invest-
investment-investor;  distinct-distinction-distinctly; to decide-decision-
decisive; (to) judge-judgement; to govern-government-governmental; to
communicate-communication.
3. Match the terms on the left with the definitions on the right.
1) bookkeeping a) the level of output at which total revenue
equals total costs
2) managerial accounting b) a compulsory payment of a percentage of
income, property value, etc.
3) financial accounting c) the book of final entry in which a record
of debits, credits and all money
transactions is kept
4) accounting d) the branch of accounting that is concerned
with reporting financial information to
parties outside the firm
5) Ledger book ¢) preparing budgets and other financial

reports necessary for management
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6) tax f) writing down the details of transactions
(debits and credits)

7) tax accounting g) keeping financial records, recording
income and expenditure, valuing assets
and liabilities and so on

8) break-even point h) calculating an individual’s or a

company’s liability for tax

Text 1. The Process of Accounting
Accounting 1s a kind of data processing. Like all data processing, it
can be divided into three phases: capture, processing, and communication.
The data capture phase of accounting is called bookkeeping. Some
people specialize in bookkeeping without performing other accounting
functions. Others perform the full range of accounting functions, including

bookkeeping.

Capture

A

Processing

Communication

Financial Information

Today accountants and bookkeepers use sophisticated computer

programs instead of ledger books. Computers are especially helpful in the
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data processing phase. In the processing phase of accounting, raw financial
data are turned into useful information. This information is communicated
in several forms to users both inside and outside the firm. Reports and data
of many kinds go to the firm’s managers. Financial statements are made
public for use by investors, customers, suppliers, unions, and others. Tax
returns are filed with federal, state, and local governments. Finally, special
reports are sent to government regulatory agencies.

A distinction is often made between managerial accounting and
financial accounting. Managerial accounting is concerned with providing
information to be used within the firm. Financial accounting, on the other

hand, is concerned with reporting information to outside users.

Information for '
Management Managerial
Accounting

Public
Financial
Statements

The
Accounting
Process

Financial
Tax Returns > Accounting

Special
Regulatory
Reports

/

Managerial accounting plays a role in almost every area of business
decision making. However, few decisions can or should be made on the
basis of accounting information alone. Break-even charts should be

viewed as a supplement to judgment and experience in setting prices. And



labor negotiations require the skills of a poker player as well as the skills
of a financial analyst.

The products of financial accounting are of three kinds.

¢ Financial statements. These statements list assets and liabilities,
and profits or losses.

e Tax returns. Tax accounting is a specialty in itself. The
government’s rules for preparing tax returns often differ from the rules used
to prepare financial statements.

e Reports to regular agencies. Regulated firms like banks, utilities,
and railroads have to file detailed reports with the agencies that regulate
them. Some regulations, such as those governing pension funds, apply to all
firms.

Each type of statement must be prepared according to the rules set by
law and by accounting profession itself. Accountants have to fit the rules to
specific cases. Often the rules allow more than one way of reporting
information, so that the accountant must choose the method that best suits

the firm’s needs.

4. Find the words in the text which mean the following:

to be involved or interested in some matter

something added

giving or receiving information

a sheet giving information in the form of diagrams, tables, etc; also a graph
official organization

a rule or law

all wage-earning workers



a company providing the service of gas, water, etc

an opinion or estimate

data collection

a row Or series

a special interest or work

5. Discuss these questions.

1.

What three phases is accounting divided into? What is done at each

stage?

. What is the difference between bookkeeping and accounting?
. What are the advantages of using computers instead of Ledger Books?

. What are the criteria of dividing accounting into two groups: managerial

accounting and financial accounting?

. What are the products of financial accounting?

. What does the preparation of each type of statement depend on?

6. Choose the proper modal and translate the sentences into Russian.

1.
2.

This statement (had to/must) be prepared two days ago.
Generally accountants (should/were able to) fit the rules to specific

cascs.

. This decision (must have been/should be) made in a hurry.

. The firm (will have to/was able to) file the report with the bank by the

end of the next month.

. It’s a pity that this statement has not been accepted. The accountant

(should have chosen/ought to choose) another way of reporting

information.
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6. You (could have helped/might help) her in preparing tax returns last
year.

7. These figures (might have been/may be) used in the previous report.

8. Accountants (are to/may) prepare statements according to the rules set
by law.

9. The staff of the financial department (are to meet/might meet) in the
office of Vice-President of Finance at 5 p.m.

10. When he was a trainee he (was not able to/needn’t) prepare reports for

the government regulatory agency.

7. We use the first conditional when the expected outcome of a situation
is very likely, and the second conditional when the outcome is less
certain or more imaginary.

Example:

If you order now, we will give you a discount.

If the government found some extra money, we would be prepared to create

a subsidiary in your country.

Choose the correct verbs in the brackets to complete these sentences.

1. If you (are/will be) more attentive, you (will not make/don’t make)
mistakes in the statements.

2. If you (were/would be) more attentive, you (would not make/don’t
make) mistakes in statements.

3. If you (try/would try) once more, you (will succeed/would succeed) in
learning this operation.

4. If you (tried/were trying) once more you (would succeed/will succeed)

in learning this operation.
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If he (does/did) his best, he (will graduate/graduated) with honors.
If he (did/will do) his best, he (would graduate/graduated) with honors.

(Would/does) it help you if we (sent/send) the regulations in time?

© N o W

If you (are not giving/don’t give) us a new credit, we (will have/had) to
find a new supplier.
9. If you (will join/joined) an association of producers, we (would get/will

get) a better price for our product.

Essential words and phrases

To apply to — TPUMEHSTHCA K

Bookkeeping — CYETOBOJCTBO, OyXrajaTepus

Break-even chart — Tpaduk 6e3yOBITOUHOCTH

Communication — mepeaaya uH(popMaIuu, JaHHBIX

To be concerned with — 3aHUMATHCS YEM-JI00

Capture — cOop undopmaruu

Distinction — paznuuue

Experience — OMBIT

To be filed with — MPEJICTaBUTh, 3aMOJHUTh HAJIOTOBYIO
JEKIIapaluio

Financial statement — (UHAHCOBBIN OTUET

Judgment — peleHue, olleHKa

Ledger book — Oyxranrepckasi KHUTa

To list — BHOCHUTH B CIHCOK

Loss — yOBITOK

Negotiations — TIepEeroBOpPBHI, BEJECHHUE NIEPETOBOPOB
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A regular agency — oduIHAIBHOE YUPEKICHUE,

OpraHu3aIus
Regulation — TpEeANUCaHHe, pACHOPIIKEHUE
Report — OTYET
To report — JIOKJIa/IbIBaTh, COOOIIATh, OTYUTHIBATHCS
To set price — Ha3Hay4aTh LIEHY
To suit smth — YJOBJIETBOPATH TPEOOBAHUSM,

[HoAXO0AUTh, COOTBETCTBOBATD

Supplement — JIOTIOJTHEHUE

Tax return — HaJjoroBas JIeKJiapaius

To turn into — TMpeBpanaThecs

Utilities — KOMMYHAJIbHBIE TTPEINIPUSITHUS

UNIT 2. THE BALANCE SHEET
Reading 1
1. Translate into Russian the following words and word combinations.
Retained earnings, to put funds into, at a given point in time, accounting
equation, borrowed funds, to be equal to, to exceed liabilities, to collect
accounts receivable, to redeem bonds, to subtract from assets, a way of

defining equity.
2. Match up the terms on the left with the definitions on the right.
1) balance sheet a) capital; the difference between assets and

liabilities
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2) accounts receivable

3) accounts payable
4) liquidation

5) assets

6) equity

7) net worth

b) the payment of all obligations and the
conversion of all assets into cash for
apportionment (pacmnpeneneHue) among
the owners of a business

c) everything of value owned by a firm

d) the ownership interest in a company

e) the sums owed by a firm to its suppliers

f) the sums owed to a firm by its customers

g) a financial statement summarizing the
firm’s assets, liabilities and net worth at a

point in time

3. Match words and word combinations in A with their synonyms in B.

A. To be called, to give a way, to put into, relationship, to put stress, to

remain, to be equal, to exceed, to redeem, to define, to subtract;

B. To go or be beyond, to determine, to give accent to, connection, to pay

off, to be left over, to give a manner, to be referred to, to take away, to

contribute to.

Text 1. The Accounting Equation

Assets, we said, are all the things that a firm owns or that are owed to

it. Liabilities are all the things that it owes. Owner’s equity refers to funds

that a firm’s owners have put into it, either directly or through retained

earnings.
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A firm’s balance sheet is a financial statement that lists its assets,
liabilities, and owners’ equity at a given point in time. The balance sheet is

based on a logical relationship that can be written as
Assets = liabilities + owner’s equity

This is known as the accounting equation.

The accounting equation is just a statement of the fact that all of a
firm’s assets have to come from somewhere. The firm may buy them with
borrowed funds, which show up on the right-hand side of the equation as
liabilities, or it may get them with funds contributed by owners (sales of
stock, retained earnings, and so on), which show up as owner’s equity.

Sometimes it is useful to write the accounting equation in another
way. If assets and liabilities are placed on the same side of the equation, it
becomes

Assets — liabilities = owner’s equity

This form of equation puts more stress on the fact that owners’ equity
1s equal to the amount by which assets exceed liabilities. Suppose a firm
turned all of its assets into cash, that is, sold its plant and inventories,
collected its accounts receivable, and so on. Suppose it then used the cash
to pay off all of its liabilities, that is, paid its accounts payable and bank
loans, redeemed its bonds, and so on. This is called liquidation. When all
the liabilities were paid, whatever was left would belong to the owners.
This form of accounting equation gives us a way of defining equity.
Owners’ equity in a firm is the sum that remains after liabilities have been

subtracted from assets. This sum is often called the firm’s net worth.
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4. Fill in blanks in the following sentences with the proper words and

word combinations from the text.

[E—

. The funds that a firm’s owners contribute to it are called ...... :

2.0, shows a logical relationship of assets, liabilities and owners’ equity.

3. Owners’ equity equals ...... minus liabilities.

4. When a firm pays all its liabilities this operation is called ...... :

5. When we ...... liabilities from assets we get net worth.

5. Answer the following questions to the text.

1. What do assets include?

2. What about liabilities?

3. How does a firm get owner’s equity?

4. What is the balance sheet?

5. What form does accounting equation acquire when stress is put on the
fact that owner’s equity is equal to the amount by which assets exceed
liabilities?

6. What is meant by the term liquidation?

7. What remains after liabilities have been subtracted from assets?

Reading 2

6. Read the text carefully and answer the following questions.
1. What two parts does a typical balance sheet consist of?

2. What items does each part include?

3. What items come under the heading of current events?

4. What does subtracting of total liabilities from total assets give?
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Text 2. A Typical Balance Sheet

We see now where the balance sheet gets its name. When assets are
listed in a column on the left-hand side and liabilities and equity are listed
in a column on the right, the totals of the two columns must balance.

On the asset side of the balance sheet liquid assets (cash and

securities), accounts receivable, and inventories come under the heading of

current assets.

Balance Sheet for December 31, 2002
3M Company
Assets Liabilities and Owner’s Equity
Current assets Current liabilities
Liquid assets $ 150 Accounts payable $ 324
Accounts receivable 1108 Short-term debt 301
Inventories 1529 Other current liabilities 580
Other current assets 28 e

------- Total current liabilities $1205
Total current assets $2915 | Long-term debt 340

Other long-term liabilities 421

Fixed assets 214 0 e
Other long-term assets 385 | Total liabilities $1966

———————— Owner’s equity 3548
Total assets $5514 Total liabilities plus equity $5514

Fixed assets (property, plant, and equipment) come next. A small amount of

other assets bring the total up to $5514 million.

On the other side of the balance sheet, liabilities are listed first. Short-
term liabilities include accounts payable, short-term debt, and others.
Among the others are wages and salaries earned by employees but not yet

paid to them and income taxes payable to the government within the
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current year. The firm also had $340 million in long-term debt and $421
million in other long-term liabilities.

3M’s total liabilities come to $1966 million. Subtracting them from the
total assets of $5524 million yields $3548 million in owner’s equity. This
1s how much 3M’s shareholders would have left to divide up in the event
of a liquidation in which all assets were sold at the values shown on the

balance sheet and all liabilities were paid out of the proceeds.

7. Match the words to make word partnerships.

1. income a. year

2. assets b. liabilities
3. current C. assets

4. total e. liquidation
5. fixed f. tax

8. Read the text again and match the word partnerships in exercise 7 to
their definition.

a) the conversion of assets into cash to divide it up among the owners of a
businessa

b) levy based upon the income earned by individuals and certain
corporations

c) something that a firm expects to hold for more than a year including
fixed capital and land

d) year that now is in progress

¢) the whole sum of debt of a business or an individual
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Reading 3

9. Read and translate the following groups of words of the same root:

Ease—easily—easiness; creative—to create-creator-creativity; to withdraw-
withdrawal; equal-equally-equality; to replace-replacement; to follow-
follower; to enter-entry; simple-simply-simplicity; to produce-producer-

production-productive-productivity; to add-addition-additional-additionally.

10. Match words and word combinations in A with their synonyms in B.

A. To keep track, to upset, to give rise, to withdraw, amount, to go up, to
go down, the same, transaction;

B. A deal, to lower, a sum, to take back, to rise, to result in, to break, to

watch, equal.

Text 3. Double-Entry Bookkeeping

One of the most useful features of the balance sheet is the ease with
which it can be used to keep track of changes in assets, liabilities, and
owner’s equity.

Changes in the balance sheet are made according to the principle of
double-entry bookkeeping. This principle, in use for over five hundred
years, states that the accounting equation must continue to hold each time a
change is made To keep the equation from being upset, each transaction
must give rise to two new entries on the balance sheet; hence the term
double-entry bookkeeping.

We can see how double-entry bookkeeping works by using a simple
example. One fine spring day Carl, an office worker, decides that it would

be nicer to spend the summer selling cookies from a pushcart on the



sidewalk in front of his office than sitting at a desk inside. He decides to
start a business, which we will call Carl’s Cookie Cart.

Starting up. The next day Carl withdraws $1000 from his bank
account and put it into the firm as its starting capital. This creates two
entries on the balance sheet, an asset of $1000 in cash and owner’s equity

of $1000. At that moment, the balance sheet looks like this.

Assets Liabilities and Owner’s Equity
Cash $1000 Liabilities $§ 0
-------- Owner’s equity 1000
Total assets $1000 Liabilities plus owner’s equity ~ $1000

The lesson: When owners put capital into a firm, assets and owner’s equity
increase by equal amounts.

Going into production. Carl takes his $1000 and goes shopping. First,
he spends $800 on a used pushcart. Next he goes to the supermarket and
spends $100 on flour, eggs, chocolate chips, shortening, sugar, baking
powder, vanilla, and salt. With these ingredients he bakes 500 cookies.

When he hit the street the next morning, his balance sheet looks like this.

Assets Liabilities and Owner’s Equity
Cash $ 100 | Liabilities $ 0
Inventory 100 | Owner’s equity 1000
Fixed assets 800
Total assets $1000 | Liabilities plus owner’sequity ~ $1000
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Once again, each transaction is entered twice. When the cart is
bought, fixed assets go up by $800 and current assets go down by the same
amount. When ingredients for the cookies are bought, cash drops for
another $100 and inventories go up by $100. The lesson: One asset can be
exchanged for another of equal value without upsetting the accounting
equation.

The first day in business. Carl’s 500 cookies cost 20c each to make.
He prices them at 30c, allowing 50 percent markup over cost. By the end
of the day he has sold all of the cookies and has taken in $150 in cash. On
his way home he stops by the supermarket to buy another $100 worth of
ingredients with which to replace his inventory. By the time he gets home,

his balance sheet looks like this.

Assets Liabilities and Owner’s Equity
Cash $ 150 Liabilities $ 0
Inventory 100 Owner’s equity 1050
Fixed assets 800
Total assets $1050 Liabilities plus owner’s equity $1050

Again the principle of double-entry bookkeeping has been followed. Carl’s
first day profit added $50 to his firm’s total assets. In order not to violate
the accounting equation, this $150 has to be balanced by an entry

somewhere on the balance sheet. The proper entry is an increase in owner’s
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equity. The lesson: If assets increase while liabilities remain constant,

owner’s equity increases by the same amount.

11. Find the words in the text which mean the following:

o ®

o & o

aur)

To provide an equivalent for;

The amount by which the price of a product is raised above the cost;
To take as a model or to imitate;

Fail to observe;

A thing written down;

To go on being;

. A record of business transactions.

12. Answer the following questions.

1.
2.
3.

13.

Why is it convenient to use the balance sheet?
What principle is double-entry bookkeeping based on?
What happens with assets and owner’s equity when owners put capital

into business?

. What will happen with owners’ equity if assets increase while liabilities

remain constant?

Discussion. Turn to the balance sheet given for Carl’s Cookie Cart.

Beginning from that point, show how each of these transactions

would be recorded on the balance sheet.

a. Carl decides that his used pushcart isn’t good enough anymore. He
finds a new one that costs $2000. The dealer gives him a trade-in of
8800 on the old cart. Carl raises the other $1200 with a short-term

unsecured bank loan. What does his balance sheet look like now?
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b. One day Carl bakes 500 cookies, as usual, at a cost of $100. He hits

the street with his inventory, but before he has sold a single cookie a

violent thunderstorm strikes. The storm blows away the umbrella

from his cart, and all the coolies are ruined by the rain. What effect

does this have on each side of the balance sheet?

Reading 4

14. Find the Russian equivalents in the right column for the English

word combinations in the left column.

1) income statement

2) gradual wearing out

3) extended period
4) cost of goods sold
5) obsolescence of fixed assets

6) purchase price

7) gross profit

8) general and administrative
expenses

9) specific products

10) net interest expense

11) income before tax

a) omnpeAesi€HHbIE MTPOTYKThI

b) uMcTBIi pacxoJl Ha BBIILUIATY
IPOLIEHTOB

C) BajoBas NpUObLIb
d) moxon o BeIUETa HaAjlOra
€) 3aKyIovHas lieHa

f) oOmme u aJAMUHUCTPATUBHBIE
pacxoapl

g) ycTapeBaHHE OCHOBHBIX CPEJICTB

h) cebecToMMOCTh peain30BaHHOM
IPOYKITUU

1) AJIUTENBHBIA IEPUOJ

j) TIOCTETICHHBIA M3HOC

k) oTué€r 0 moxomax

Text 4. A Typical Income Statement

An income statement for 3M Company is shown in the figure. The

balance sheet of this company gave its financial position at a single point in
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time, December 31, 2002. The income statement, in contrast, covers an
extended period — in this case, all of 2002. All amounts are in millions of
dollars.

The first line of the income statement is labeled net sales. This gives
the total value of the products sold by the firm during the year, minus any
items that were returned for credit.

The next line is labeled cost of goods sold. This includes all costs that
can be attached to specific products, including parts, materials, labor, and
so on. It also includes depreciation. Depreciation is the cost of the gradual
wearing out or obsolescence of fixed assets. For example, suppose a spot
welder that costs $4000 is used to make one of 3M’s products. This
machine is expected to wear out after five years. Each year, one fifth of the
purchase price, or $800, is included as a cost on the income statement. For
3M, total depreciation costs in 2002 were $325 million. Net sales minus

cost of goods sold is called gross profit.

Income Statement for 3M Company, 2002

Net sales $6601

Minus cost of goods sold 3881
Gross profit $2720
Minus selling, general, and administrative expenses 1672
Operating income $1048
Minus net interest expense 34
Income before taxes $1014
Minus income taxes 383

Net income profit $ 631

Source: 3M Company, Annual Report, 2002, p. 32.
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The next item on the income statement is labeled “selling, general
and administrative expenses.” These include all marketing costs and all
costs that cannot be assigned to specific products, for example, the pay of
top managers. Some of 3M’s $325 million of depreciation is included in
this line: this reflects depreciation of such items as office equipment. Gross
profit minus these expenses equals operating income.

Net interest expense is the next line on the income statement. This
item includes interest payments on all of 3M*s long- and short-term debt. It
1s a net figure because it has been adjusted to account for interest payments
and other investment income received by 3M during a year. Operating
income minus net interest expense gives income before tax, also called
profit before tax.

The next line of the statement shows the taxes that 3M owes on its
income. When these are subtracted, the result is net income or profit. When
business people say, “Keep your eye on the bottom line,” they mean, “Pay
attention to net income,” which appears on the bottom line of the income
statement.

15. Match up the terms on the left with the definitions on the right.

income statement | gross profit minus cost that cannot be assigned to
specific  products  (selling, general, and
administrative expenses)

gross profit operating income minus net interest expense (or
plus net interest expense)

depreciation the total value of the products sold by the firm
after deductions of any items that were returned

for credit
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cost of goods sold

net sales

income before tax

operating income

the reduction in value of a fixed asset during years
it 1s in use

the difference between sales and the cost of goods
sold (labor, material, factory, overhead)

all costs that can be assigned to particular
products, including parts, materials, labor and so
on

summary of a firm’s revenue and costs over a

given period of time

16. Match words and word combinations in A with their synonyms in B.

A. Obsolescent, contrast, gradual, to attach to, fixed assets, particular, to

label, to extend, to adjust, depreciation, income statement, share assets;

B. To assign to, specific, to name, non-current assets, amortization, to

prolong, being out of date, difference, profit and loss account, little by

little, owners’ equity, to become suited or fit.

17. Complete the following sentences which summarize the text.

L.

o0

exXpenses arc ...... .

An income statement is an account of a firm’s ........ :
2. Net sales show the total value of the products ........ :

3. The cost of sold goods includes all expenses for the production of ...... :
4. When cost of goods sold is deducted from net sales ......... :

5

. We get operating income when selling, general and administrative

The item named net interest expense includes ......... :

If we deduct net interest expense from operating income ........ :

. When taxes are subtracted from income before tax ........ )
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18. We can combine two or more nouns and one noun is used as an
attribute. Match each noun in column 1 to two of the nouns in

column 2 to make partnerships.

Column 1 Column 2

1. business a. equation b. cards c. plan

2. income a. tax b. statement C. partnership

3. interest a. rate b. labor C. payment

4. investment | a. return b. income c. liaison

5. office a. worker b. equipment c. markup

6. labor a. negotiations  b. technology c. force

7. company a. budget b. profits c. route

8. credit a. item b. card c. discovery

9. tax a. rate b. liability c. investment
10. costs a. expenses b. reduction c. assets

19. Complete the sentences with the present simple or the present
continuous.

1. a) This year we ..... (try) to cut our expenses for R&D.
b) Each company always ..... (keep track) of all changes in assets,
liabilities and owners’ equity.
2. a) Companies ..... (use) different sources for raising funds.
b) At the moment the human resource department ..... (look for) a new
accountant executive.
3.a) L’Oreal ..... (sell) cosmetics to consumers around world.
b) This year L’Oreal ..... (invest) over £180m in R&D.
4. a) The marketing department always ..... (keep) within its budget

b) Because the company made a loss last year, the marketing department

..... (try) to reduce costs.
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20.Discussion. We have not yet seen an income statement for Carl’s Cookie

Cart. Suppose that Carl is able to sell cookies on 100 days
during the year. He sells an average of 500 cookies a day.
Ingredients cost 20¢ per cookie, and the cookies are sold
for 30 ¢ each. Carl puts down $200 of depreciation on his
cart as a general expense. Interest on his loan for the year
is $150. Carl is not incorporated, so he figures taxes at his
personal tax rate, which is 35 percent.

Arrange this information in the form of an income
statement for the 100-day period, using 3M’s income
statement. (Note that in Carl’s case depreciation is
considered a general expense rather than a cost of goods
sold. What’s Carl’s gross profit? Operating income?

Income before tax? Net income?

Essential words and phrases

Accounting equation — OyxraiaTrepckas cOalTaHCUPOBAHHOCTb,

6YXFaHTepCK06 TOXKICCTBO

Accounts payable — KpEeAUTOpCKas 3aJ0KEHHOCTh, cueTa K
oriaTe

To adjust — CKOPPEKTHPOBATH, YPETYIUPOBATH

Amount — CyMMa, BeJIMYMHA

To appear — TIOSIBJISATHCS

To assign to

To attach to

— pacnpeaensaTh, peHa3HayaTh,
repeiaBaTh

— IIPHUIIUCBIBATH
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To balance
Balance sheet

To bring up

Cost

Cost of goods sold
(syn. cost of sales)
To define
Depreciation

Double-entry
bookkeeping
Entry

Equal
To exceed

To follow

General and
administrative expenses
To give rise

Gradual

Gross profit

Income statement
Income tax

Interest expenses

In the event of

Item

pPaBHATHCS
OastaHc, 0aJIaHCOBBII OTYET

MPUBOAUTH, JIONOJHSITh, U3MEHSTH B
COOTBETCTBHUH C HOBBIMH JaHHBIMU
3aTpaThl, U3JAEPKKH, PACXOIbI

IIeHa, CTOMMOCTB, C€0E€CTOMMOCTh, aKTHB
ce0ECTOMMOCTD peaTu30BAaHHOM
MPOAYKIIMH, C€0ECTOMMOCTh ITPOJAK
OTPEACTATh

HN3HOC, O66CH€HI/IBaHI/I€, aMoOpTHU3alus

YYET MO CUCTEME JBOMHON 3aIUCHU

OyxrajaTepckasl 3aIuch, IPOBOJIKA,
3aHeCeHne

paBHBIN

IIPEBBIIATH

COOJII0/IaTh, IPUACPKUBATHCS

O6IJ_II/I€ N YIIPABJICHYCCKHUC PACXOAbI

JaTh TTOBO/I, UMETh PE3yJIbTaTOM
MMOCTEIICHHBIN

BaJIOBAsi MPUOBLIb

OTUET O JOXO0JaX

MMOTOXOOHBIN HAJIOT

pacxo/ibl Ha BBIILJIATY MPOLIEHTOB
B ClIy4ae

3aIliCh, IIPOBOJIKA, CTAaThs B CUETE, OajlaHC
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To keep track
To label
Labor

Marketing expenses

Markup
Net

Net sales

Net worth
Obsolescence

Operating income

Proceeds

To put stress
Relationship
To remain

To replace
Selling expenses
Starting capital
To take in
Total
Transaction
(To) upset

To violate

MIPOCJIC)KUBATH

0003HAYHUTh, 3aITUCAThH

pabouas cua

TOPTOBBIE PACXOJIbI

ITOBBIIIICHUE IICHBI

YUCTHIN, O€3 BHIUETOB, YUCTAsI TPUOBLIb

YUCTas BBIpYUYKa (CyMMa IMOCTYIUIEHUH OT
pOJaX MUHYC 3a4ETHBIE CTAThH,
HaIlpuMep, BO3BPaThl, TOPTOBBIE CKHUJIKH,
TPAHCHIOPTHBIE PACXO/IbI)

YUCTBIM KalUTall, aKIHOHEPHBIN KaIlUTAI
yCTapEBaHUE

olnepalroHHas MPUObLIb, TPUOBLIL OT
BEICHUS OTEpalui

MOCTYIUICHUS, BBIPYUYKa, JOXOIbI
JIeJIaTh Y0P, AKLEHT

COOTHOILICHHE

OCTaBaTbCs

IIOIIOJIHUTB, BOCCTAHOBUTH

TOPTOBBIE PACXOBI

Ha4daJIbHbIN, CTAPTOBBIN KaIIUTAJI
coOpaTh, BEIPYYUTh

CyMMa, UTOT

onepaunus, MpoBOJKa

HapylaTh, HapylIeHUE

HapylaTh
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To wear out — W3HAIIUBATHCH
To withdraw — CHHMATh CO CUéTa

Worth — CTOMMOCTb, IICHA

UNIT 3. INTERPRETING FINANCIAL STATEMENTS

Reading 1

1. Fill in the gaps in the text with the best word.
Text 1. Financial Comparisons

Financial statements have many users. Managers use them to ..........
(1) the firm’s performance relative to that of other firms and to pinpoint
problems that need actions. Lenders, such as banks and bondholders, use
them to .......... (2) the risk of lending to a firm. Stockholders use them to
decide how much a share of a firm’s stock is worth. And regulatory
agencies use them for such purposes as deciding whether to allow a
.......... (3) to increase the rates it charges its customers.

For each of these purposes, more is needed than a single balance
sheet or income statement. Most of the numbers in financial statements
take on meaning only when they are .......... (4) with other numbers.
Three kinds of comparisons are used in .......... (5) financial statements.

* Comparisons with other years. Are the firm’s sales and profits
rising? If so, at what rate? Is owner’s equity growing? What is the trend in
earnings per share? Has the ratio of debt to equity risen or fallen? Trends

like these often are more important than .......... (6) numbers.
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* Comparisons with other firms. Are the firm’s sales down while its
competitors’ sales are rising? Or are the firm’s sales down only a little
while those of competitors have .......... (7) a lot? It clearly makes a
difference. One case would indicate weak management in a strong market
situation, .......... (8) the other would indicate strong management doing
the best it could in a weak market situation.

*Comparisons with other items on the balance sheet or income
statement. Often it is useful to restate information .......... (9) some
common base, such as sales or total assets. For example, a series of income

statements, each with all items stated as a percentage of sales, might show

an .......... (10) trend in general and administrative expenses. This might
indicate the problem such as .......... (11) to control staff salaries.

(1) a) evaluate b) state c) define d) show

(2) a) increase b) gauge c)lend d) use

(3) a) company b) enterprise c) utility d) agency
(4) a) reduced b) retained c) compared d) discussed

(5) a) converting  b) understanding c) interpreting d) assuming

(6) a) appropriate  b) stock c) code d) absolute

(7) a) indicated b) dropped c) suited d) provided
(8) a) whereas b) as c¢) in order to d) which

(9) a) in return b) interms of  c) in spite of d) according to
(10)a) new b) straight ward c¢) modern  d) upward
(11)a) regulation  b) failure c) equation  d) willingness
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Reading 2

2. Translate the following groups of words of the same root.

Efficient-efficiently-efficiency,  profit-profitable-profitability,  solvent-
solvency, meaning-meaningful, to accept-acceptable-acceptance, measure-
measurement-measurable, expense-expensive-expensively, to attract-
attractive-attractiveness, to invest-investor-investment, to compare-

comparison-comparatively.

3. Translate the following words and word combinations into Russian.

Commonly used ratios, to measure performance, to measure solvency,
current liabilities, according to, debt-to-equity ratios, to have bearing on, to
be acceptable for, to take into account, profitability measure, a related ratio,

to yield the ratio.

4. Find the English equivalents in the right column for the following

Russian words and word combinations in the left column.

1) ko3 dunnentT obopauynBaemMocTu a) leverage
3aI1acoB

2) OIJIATUTh KPAaTKOCPOYHBIE b)to be meaningful
3aJI0JDKEHHOCTH

3) npuObLIF HA AKIMOHEPHBINA KAITUTAII c) return on assets

4) xoahPUIMEHT TeKyIIeH JIMKBUIHOCTH d)to have bearing on

5) mnaréxecrnocoOHas KOMIAHUS ) inventory turnover ratio

6) UMETh BIUSHUE HA f) a solvent company

7) COOTHOILIEHHE COOCTBEHHBIX M 3aéMHBIX  g)to meet short-term
CPE/ICTB liabilities

8) mpuBIEYb AKIITMOHEPHBIN KamuTal h) return on equity
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9) umMeTh 3HAaYEHUE, CMBICII 1) current ratio

10) npuObLIL HA OOIIYIO0 CyMMY aKTUBOB J) to attract equity capital

Text 2. Ratio Analysis

Many financial comparisons are based on ratios, such as the ratio of
sales to inventory or that of debt to equity. Ratios make it easy to see trends
and compare a firm’s performance with industry norms. The most
commonly used ratios are those that measure solvency, efficiency, and
profitability. Let’s look at some examples of each.

Measuring solvency. A firm is said to be solvent if it can get the cash
it needs to meet its short-term liabilities as they come due. One of the most
commonly used measures of solvency is the current ratio. This is the ratio
of all current assets — liquid assets, accounts receivable, and inventories — to
current liabilities. According to the balance sheet of 3M Company it had
current assets of $2915 million and current liabilities of $1205 million at
the end of 2002. Its current ratio was thus 2.4 to 1. A firm is considered
solvent on this measure if its current ratio is 2 to 1 or above.

A related ratio is that of debt to equity. The debt-to-equity ratio is
equal to total debt divided by owners’ equity. This is really more a measure
of leverage than a measure of solvency, since it includes both short- and
long-term debt. However, it has some bearing on solvency, since a low
debt-to-equity ratio makes it easier for a firm to borrow to meet its short-
term cash needs. In 2002, 3M’s debt-to-equity ratio was 0.08 to 1. A ratio
higher than 1 to 1 would make a firm a risky borrower.

Measuring efficiency. Some ratios are used to measure a firm’s

efficiency. One such ratio is that of sales to inventory, called the inventory
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turnover ratio. This ratio varies widely from one industry to another. It is
meaningful only when compared with industry norms. Taking the sales
figure of $6601 million from 3M’s income statement (page ...) and
dividing it by the inventory figure of $1529 million from its balance sheet
yields the ratio of 4.3 to 1. This is acceptable for a manufacturing firm.

Measuring profitability. The final use of ratios is to measure a firm’s
profitability. The most important are those that compare profit to the capital
invested in a firm.

One such measure is return on equity (ROE). This is found by
dividing net income by owner’s equity. For 3M, ROE was 17.8 percent in
2002. ROE is a very important ratio for investors — it shows how much is
available for dividends and reinvestment each year for each dollar of equity
capital they put in. Unlike many other ratios, ROE can be meaningfully
compared across industry groups. Industries with a higher than average
ROE tend to grow and attract new equity capital. It is harder to attract
capital to industries with a lower than average ROE, and such industries
tend to shrink.

Another profitability measure is return on assets (ROA). This is
found by dividing net income plus interest expense by total assets. ROA 1is
a more general measure than ROE in that it takes into account funds from

all sources, both debt and equity. For 2002, 3M’s ROA was 12 percent.

5. Find in the text words or word combinations that mean the following:
a) the result of dividing current assets by current liabilities;

b) a firm’s ratio of total debt to total equity;

c) the ability of a firm to pay off its short-term liabilities;
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d) the ratio of total debt (short-term and long-term) to owners’ equity;

e) to have tendency to decrease;

f) the ratio of sales to inventory;

g) to become payable as previously arranged;

h) net income expressed as percentage of owners’ equity;

1) net income plus interest expense expressed as percentage of total assets.

6. Find the answers to the following questions in the text.

1.

7.
8.
9.

Why are financial comparisons used in the accounting?

. What are the most widely used ratios?
. When is a firm considered to be solvent?

2
3
4.
5
6

What 1s a measure of the firm’s solvency?

. What is the debt-to-equity ratio equal to?

. Why is it considered to be more a measure of leverage than a measure

of solvency?
Why does this ratio have some bearing on solvency?
What is one of the ratios that is used to measure a firm’s efficiency?

How can the inventory turnover ratio be found?

10. What are measures of a firm’s profitability?

11.How can return on equity be found?

12. Why is return on equity very important for investors?

13. How can return on assets be calculated?

14. Why i1s it a more general measure than ROE?

7. Speak on the following:

a) A firm’s solvency;

b) The debt-to-equity ratio as a measure of leverage;
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¢) Determining a firm’s efficiency;

d) Return on equity as one of the measures of a firm’s profitability;

e) Return on assets as another profitability measure;

8.

Choose the appropriate form of the infinitive in the brackets and

translate the sentences.

. Managerial accounting provides information (to use/to be used) within

the firm.

. Today accountants are likely (to use/to be used) computers instead of

ledger books.

. Accounting is known (to divide/to be divided) into three phases: capture,

processing, and communication.

I am sorry (to lose/to have lost) the annual report.

. There are many sources of funds (to raise/to be raised) by a firm.

Do you remember (to have been called/to be called) by the customer
yesterday?
We can’t afford (to be increased/to increase) the budget for the

production department.

. I can’t remember (to have made/to make) any changes in the balance

sheet.
One of the principles (to observe/to be observed) in accounting is

accounting equation.

10. The company has too many branches (to keep track/to have kept track)

of their financial activities.

11. He regrets not (to present/to have presented) the income statement in

time.

12. He was the last (to come/to have come) to the budget meeting.
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Acceptable
Bearing
To come due

Current ratio

Debt-to-equity ratio

Efficiency

To evaluate
Failure

To gauge
To interpret

In terms of

Item

Essential words and phrases

Inventory turnover ratio —

To lend

Leverage

(To) measure
To be meaningful
Performance

To pinpoint

IIPUEMJIEMBIN, TIOJIXOISAIINN
OTHOILICHHUE, 3HAYCHUE
HACTYIaTh (O CPOKE OILJIATHI)

KO3 PUITMEHT TeKyIIEH JIUKBUIHOCTH,
KBOTa OOOPOTHBIX CPEACTB (OTHOIIIEHUE
00OPOTHBIX CPEJICTB K KPATKOCPOUHBIM
00s3aTEIHLCTBAM)

OTHOILLIEHUE 3aEMHBIX CPEJICTB K
cOOCTBEHHOMY KanuTaly
IPOU3BOAUTEIHHOCTD, YACTbHASL

3 PEKTUBHOCTH

OLICHUBATh
HEJI0CTATOK, MPOBaJI
U3MEPSITh, IPOBEPATH

O0OBSICHSTH, TOJIKOBATh

B IICPCBOJAC HA, B UCYUCIICHUHU, B CIMHUIIAX,

B ITIOKAa3aTCIAX

3aIliCh, MIPOBOJIKA, CTAaThs B CUETE, OajlaHCe

ko3 (phumeHT 060pavynBaEMOCTH 3aI1aCOB
CCY)XaTh, 1aBaTh B3alMBI

COOTHOIIIEHHE COOCTBEHHBIX U 3aéMHBIX
CpEICTB

Mepa, MOKa3aTelb; U3MEPSTh
UMETh 3HAYCHHUE, CMBICTT
pabota, QyHKITMOHUPOBAHHE

TOYHO OIIPCACIIATD UJIN YKA3bIBATb
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Profitability — TPUOBLILHOCTH

Ratio — COOTHOIIEHUE, KO3PUIIUEHT
To restate — MOBTOPHO HU3JI0KUTh
Return on assets — (orgopeHTadENIbHOCTh, TPUOBLIb HA

0O0ILIyI0 CyMMY aKTHBOB
Return on equity — k03 UIMEHT OTIaun aKIIMOHEPHOTO

KanuTayia, MpuObLIb Ha aKITMOHEPHBIN

KarmuTa
To shrink — COKpallaThcs
Solvency — IIaTEXECOCOOHOCTh
To state — U3JI0XKHUTh
Stock — 3amac, akIus
To take into account — YYUTBIBAaTh, IPUHUMATHh BO BHUMAaHUE
To take on meaning — OCMBICIIUBAThCS, TPUOOpPETaTh 3HAUCHHUE,
CMBICTT
Upward — BBEpX
Whereas — B TO BpeMs Kak
PART III

UNIT 1. BANKING AND THE FINANCIAL SYSTEM
Reading 1
1. Find the Russian equivalents for the English word combinations in the
left column.

1) to put surplus funds to work a) TMKBUUPOBATHCS B PE3yJIbTaTe

OaHKPOTCTBA
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2) units of government b)B3uMaTh ¢ 3aEMITUKOB

TIPOIEHTHI

3) on the whole ¢) OaHKPOTCTBO KOMITAHUU

4) to have strong points d) mOCTOSTHHBIN MMOTOK BKJIAJIOB

5) to lend a large amount €) mepeaaTh CpeACTBa

6) from the saver’s point of view f) cTouT 3amaTuTh 3a

7) to be worth paying for €)C TOUKH 3pECHUS BKJIaJUNKa

8) to commit funds h) o1oKHUTH OONBIIYIO CYyMMY
JICHeT

9) a steady stream of deposits 1) UMETh CHJIbHBIE CTOPOHBI

10) failure of a firm J) B 1IeJIOM

11) to charge borrowers an interest  k)3acTaBUTh U3IUIITHUE CPEICTBA

rate paboTath
12) to be wiped out by a failure 1) npaBUTENbCTBEHHBIE
YUPEXKICHUS

2. Match words and word combinations in A with their synonyms in B.

A. A household, surplus funds, a steady stream, saver, to aid, disaster,
failure, to avoid, to absorb, to wipe out, to suit needs;

B. Continuous flow, depositor, a family, to help, catastrophe, bankruptcy,

to keep away from, to take in, to destroy, to match needs, excess money.

Text 1. The Structure of the Financial System
The finance is the process of getting and putting to use the funds that
a firm needs to do its business. The financial system is the network of
institutions through which firms, households, and units of government get

the funds they need and put surplus funds to work.
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Any financial unit is considered to be a saver if it earns more than it
spends and a borrower if it spends more than it earns. Some households
are savers and some are borrowers, but on the whole, households earn
more than they spend. Thus, they serve as a source in the financial system.
Likewise, some firms and some units of government are savers while
others are borrowers, while on the whole, business and government sectors
spend more than they save.

Two pathways connect savers and borrowers: direct financing and
indirect financing. Direct financing is the process in which a user of funds
gets them directly from savers. Corporations use direct financing when
they sell stocks and bonds to the public. Units of government use direct
financing when they sell bonds and other securities.

Indirect financing is the process in which a user of funds gets them
from an intermediary, such as a bank, which in turn gets them from savers.
Banks and other institutions that aid in this process are known as financial
intermediaries.

Direct financing has its strong points. It is suitable for savers who
want the risks and potential rewards of ownership. It is also suitable for
savers who have large amounts of funds to lend. From the saver’s point of
view, direct financing is a bit like buying goods directly from the factory.

For many savers, though, indirect financing is a better way to put
funds to work. The role of financial intermediaries in the financial system is
a bit like that of wholesalers and retailers in the distribution of goods: they

provide services that their customers believe are worth paying for.
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Savers

Direct Financing & 3, Indirect Financing
Sy 2%
A&Q’§ %,%
&5 (%
Investment Financial
Borrowers Funds

Intermediaries

One service that banks and other financial intermediaries provide is
matching the size and terms of borrower’s needs with those of savers. For
example, suppose a borrower needs a twenty-year $100000 loan to buy a
building. It would not be easy to find one saver who was willing to commit
such a large block of funds for such a long time. But there are always many
savers looking for a chance to put small amounts of funds to work for short
periods. A bank can gather a steady stream of short-term deposits from
such savers and use them to make large, long-term loans to suit borrowers’
needs.

A second service that financial intermediaries provide is reducing the
risk to savers. In any business loan there is some risk that the borrower will
not be able to repay. If a household were to place all of its savings in a loan
to a single firm, failure of that firm would be a disaster for the household.
But a bank makes loans to many firms using funds gathered from many
depositors. A few of the loans will not be repaid. But the bank can absorb
these losses by charging borrowers a slightly higher interest rate than the
rate it pays to depositors. Depositors are happy to accept the lower interest
rate in return for avoiding the risk that all their savings will be wiped out

by a single business failure.
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3. Find sentences characterizing the following:

a) the purpose of the financial system;

b) the case when a corporation uses direct financing;

c) the role of financial intermediaries in indirect financing;

d) the primary service of banks and other financial intermediaries;
e) the second service provided by banks;

f) the way the bank covers its losses when they occur;

g) the reason why depositors agree to accept a lower interest rate offered by

banks.

4. Each sentence is the answer to a question. Make the question with the
interrogative word suggested.

Model: The financial system is a network of financial institutions. (What)

What is meant by the financial system?

1. A financial unit is considered to be a saver if it earns more than it
spends. (When)

2. On the whole households serve as a source in the financial system.
(What)

3. Units of government get direct financing by selling bonds and other
securities. (How)

4. If a user gets funds from an intermediary the financing is called indirect.
(Why)

5. Direct financing is suitable for savers who want to lend large amounts of
funds. (Who .... for)

6. The role of banks is like that of wholesalers and retailers in the

distribution of goods. (What .... like)
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7. To make large long-term loans a bank can gather a steady stream of
short-term deposits. (How)

8. Banks can cover losses by slightly increasing an interest rate. (How)

9. Depositors agree to be paid the lower interest rate at banks for avoiding

the risk of losing all their savings. (Why)

5. Speak on the following:

a) the purpose of existence of financial systems in the countries;
b) the difference between savers and borrowers;

c¢) direct financing;

d) indirect financing;

e) the services of banks and other financial intermediaries.

Reading 2

6. Discuss these questions before you read the text.
1. What do we mean by financial intermediaries?

2. What kinds of services do commercial banks offer in your opinion?

7. Read the text and answer these questions.
1. What are two ways the insurance groups make profits by?
2. What three groups of risks do insurance companies protect against?

3. In what way do mutual funds meet the needs of every investor?

Text 2. Financial Intermediaries
Financial intermediaries come in many sizes and kinds. They fall into
three main groups: the banking group, the insurance group, and the

investment group.
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The banking group. The banking group is made up of all financial
intermediaries that accept deposits from the public. The most important
members of this group are commercial banks. Commercial banks accept
checking and other deposits from firms and households and make many
kinds of loans, including long- and short-term loans to business firms.

The insurance group. The insurance group includes two related kinds
of firms. The first are insurance companies. These collect charges. called
premiums from firms and households. In return they offer financial
protection against certain risks. Life insurance pays benefits to
policyholder’s dependents in the event of his or her death. Fire insurance
pays for damage caused by fire. Casualty insurance covers theft, accident,
illness, and other risks. The insurance group also includes pension funds.
These collect payments from working people and pay them an income after
they retire.

Insurance companies and pension funds are sources of funds for
investment because people make payments to them before they receive
benefits from them. As funds come in, they are put to work earning interest.
Members of the insurance group buy corporate bonds and stocks. They also
buy government securities and make mortgage loans. The greater the
interest earned from these investments, the greater the benefits that can be
paid out. Profit-making insurance companies use some of their investment
income to pay dividends to their shareholders. However, some insurance
companies and pension funds are run on a non-for-profit basis. All of their
income, after allowing for administrative costs, is paid out in benefits.

The investment group. The most important members of the

investment group are mutual funds. These sell shares to individuals and
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use the proceeds to buy stocks, bonds, and government securities. Earnings
from these investments are passed along to the share holders after a small
service fee has been deducted. There are mutual funds tailored to the needs
of every investor. Some buy risky stocks with high growth prospects.
Others buy the stocks of firms that are known for paying consistent
dividends over time. Some buy corporate bonds, others government bonds.
All of them offer investors a chance to own a share of a large professionally
chosen pool of securities. The investor does not have to choose the
securities and can make payments and withdrawals in fairly small
amounts.

8. Use these words or phrases from the text to answer questions below.

Insurance company  mutual fund pool

dependent benefit mortgage loan

Which word or phrase...:

1. usually leads to buying property, which serves as a security for the

2. refers to a financial intermediary that collects premiums from
individuals and firms, and, in return, offers financial protection against
certain risks? -----------

3. means a person who relies on someone else for support? -----------

4. refers to payments made by an insurance company? -----------

5. means combination of resources, funds, etc., for some common
purpose? ----------

6. refers to a trust or corporation which is formed to invest the funds it

obtains from shareholders? ----------
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9. Complete the following sentences to summarize the text.

1. Financial intermediaries fall into ......... :

2. The services of commercials banks are ........ :

3. Insurance companies offer financial protection against risks in return
4. As insurance companies and pension funds are sources of funds for

investment they

6. Members of the investment group sell shares to individuals and ........ :

-

. Earnings from the investments of this group are passed ........ :

8. The investors of this group have a chance ......... :

10. Indentify objective or subjective infinitive constructions in the
following sentences and translate them into Russian.

1. This investment proved to have brought him a great benefit.

2. Shareholders consider the failure of the firm to have been caused by
improper management.

3. The firm seems to be hardly keeping on the float.

4. This economist is sure to be remembered for development of some
financial strategies.

5. Some points of his report on investment policy changes appeared to

have been interpreted incorrectly.
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6. Vice-President for Finance recommended the budget for production
department to be increased by 20%.

7. Accounts department is considered to be an important source of
information for management.

8. Board of Directors wants the company’s proceeds to be used for buying
government securities.

9. The government was reported to have raised the interest rate to combat
inflation.

10. They don’t mind a small service fee to be deducted from their earnings.

Essential words and phrases

To absorb — TOTJIONIATh, PaCHpeesiTh
To accept — MNPUHUMATH

(To ) aid — TIOMOIIlb; IOMOTaTh

To avoid — wu3berarpb

To allow for

BBIACIIATL CPCACTBA HaA

(To) cause — TpUYUHA; ObITh MPUYNHOMU, BHI3BIBATH
YTO-IM00

(To) charge — IUIaTa, B3HOC; B3bICKMBATh, B3UMATh

To commit — TepenaBaTh, BOBJIEKATh

To cover — CTpaxoBaTh, IOKPHIBATH

Dependent — WKIUBEHEI]

Disaster — 0eAcTBHE, HECUACThE, KaTacTpoda

Group — TpyIa, OpraHu3anus

Mutual fund — B3aUMHBIA (OH/ (OTKPBITHIN

WHBECTUIIMOHHBIA POH)
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Not-for-profit

Over time

Profit-making company

Pathway
Point

Pool
Related

To retire
Reward
Service fee
Stream

Suitable

To tailor for
Terms

Unit

To wipe out
Withdrawal
To be worth

HE KOMMEPYECKUN

CO BPEMEHEM, 10 MTPOLIECTBUH
JUTUTEIBHOTO BPEMEHH
KOMMEpPUYECKasi KOMITAaHUS
MOCTOK, ITYTh

MIYHKT, 3JIEMEHT, CTOPOHA

myJi, 00bEIMHEHHE, CYyMMa
CBSI3aHHBIN, POJICTBEHHBIN
YXOJIUTh HAa TIEHCHIO
BO3HArpaKJI€HUE, TOOLIPEHHE
J1aTa 3a yClyru

MOTOK

MTOJIXOJISIIIMI, TTPUTOIHBIM,
yAOBIIETBOPSIOIININ TpeOOBAHUAM
npucnocabIuBaTh, paCCYUTHIBATH Ha
YCJIOBHSI, CPOKH, TTOKA3aTEIN
MOJpa3ACIICHUAE, YUPEKICHUE
YHUYTOXAaTh, TUKBUIUPOBATH
CHATHE, U3bITHE

CTOMT YTO-T100 ACJIaThb



UNIT 2. MONEY AND THE BANKING SYSTEM
Reading 1
1. Read the text and answer these questions.
1. What two kinds of financial assets serve as money?
2. In what two forms does money exist?

3. In what two forms does “’Plastic money” come?

Text 1.What Is Money?

Money is an asset that serves three functions. First, it serves as a
means of payment. People accept money in payment for goods and services
because they know that others accept it in turn. In a barter system, each
party to an exchange must have something that the other party needs. With
money, needs are matched more easily. The electrician can pay the dentist
to fill a tooth; the dentist can use the money to hire the plumber to fix a
drain; the plumber can pay a doctor to cure a stomachache, and so on.

The second function that money serves is as a store of value. In a
barter system, a dentist who was paid with eggs or tomatoes would have to
eat them before they spoiled. If the dentist is paid with money, the money
can be saved and used to buy fresh eggs and tomatoes at any time.

Finally, money serves as a unit of account. In a barter system, it
would be hard to keep financial records. Money simplifies financial
record keeping. Income, assets, and liabilities can all be stated in terms of
different units of money.

Today two kinds of financial assets serve as money: currency (coins
and bills) and checking deposits at banks and thrift institutions. Checking
deposits make up bigger part of the total money supply than coins and
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paper currency. Checking deposits serve all three of the functions of
money, just as currency does. They are a means of payment: by writing a
check, you can transfer part of the balance in your checking account to the
seller. They are a store of value: you can deposit your paycheck in your
checking account and spend the money when you need to. And the money
in your checking account serve as a unit of account.

These days many people carry “plastic money” — the handy VISA
cards, MasterCards and other all-purpose charge cards. ‘Plastic money”
comes in two forms — credit cards and debit cards. They look much alike
and, from consumer’s point of view, are used in much the same way, but
they serve different functions.

Credit cards, which are the more common of the two, are a quick way
of getting bank loan. Suppose you go into a gas station to buy $20 worth of
gas and pay for it with your VISA card. By signing the credit card slip,
you do two things. First, you ask your bank for a loan of $20. Second, you
ask your bank to send the amount of the loan to the gas station. Later, your
bank will send you a bill and you will repay the loan. The transaction is
then complete.

The use of a debit card at a point-of-sale terminal linked to the bank’s
computer causes the bank to move funds from the customer’s account to the
merchant’s account. Debit cards can also be used where there is no point-
of-sale terminal. In this case the transfer of funds does not take place until

the merchant sends the debit card slip to the bank.
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2. Match up the verbs and nouns below to make common collocations.

repay a check

sign a transaction
deposit needs

transfer money

keep record keeping
simplify records

accept balance

match loan

complete credit card slip
write paycheck

3. Find the words and expressions in the text which mean the following:

a) depositary organization;

b) anything used as a medium of exchange;

c) a card which guarantees payment for goods and services purchased by
the customer, who pays back the bank at a later date;

d) a written order to a bank to pay the amount of money stated;

€) areserve;

f) to conduct financial reports;

g) a plastic card used by a customer to instruct a bank to transfer funds
from the customer’s checking account to that of a merchant;

h) an amount of money circulating in the economy of the country.

4. Speak on the following.

1. Why people need money.
2. Two kinds of financial assets.

3. The difference between a credit card and a debit card.
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5. Choose the word that best completes each sentence.

1. Building ... lend money to people who want to buy houses, taking a

mortgage of the property deeds (umoreunoe cBuaeTenabcTBO) until the
loan is repaid.

A. companies B. associations C . societies

2. A bank will sometimes give you a loan if someone is prepared to stand as

your guarantor, agreeing to ... the loan if you fail to do so.

A. resurrect B. repay C. resign

3. Persons are described as ... when they cannot meet their liabilities.
A. bankrupt B. affluent
4. Before you ..

C. dishonest
. a cheque for more than you have on your account you
must apply for an overdraft.

A. withdraw B. withhold C. draw

5. The Bank of England is a ... bank and acts as banker for the government
and the other banks.

A. data B. central C. local

6. When the payee signs on the back of a cheque it is described as
indorsement and can then be ... to another person.
A. debited B. charged C.
7. If you wish to ..

transferred
. a large sum from your bank the branch manager may

require authorization from his Head Office.

A. receive B. convey C. borrow

8. The banker is expected to treat any information he has in regard to his

customer’s ... affairs as confidential.

A. private B. domestic C. financial
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9. A customer who ...his overdraft limit will have to pay additional bank
charges as well as interest on the excess.

A. uses B. exceeds C. loses

6. Rewrite the passage filling in the blanks from the list of words below.
Most customers of a bank have current (or cheque) accounts. Interest
is not paid on these accounts but withdrawals can be made by cheque. The
other type of bank account is the deposit or savings account. Interest is paid
on this account but notice (yBemominenne) of .......... 1s required.
Banks lend .......... money to their customers in two ways. They grant
loans or overdrafts. Loans are for a fixed sum and ........... has to be paid
on the whole ............ borrowed. Another name for a loan is an advance.
In .......... to loans to businesses, banks also .......... personal loan. By
contrast, by means of an overdraft it is possible for cheques to be drawn in
........ of the sum standing to the customer’s ........ in the current account.
Interest is ......... paid only on the actual amount overdrawn.

If customers wish to buy items such as new cars or double glazing for their

houses they may ........ the bank manager for a loan or overdraft. Providing
they have ......... their accounts satisfactorily in the past and the amounts
involved are in keeping with their ......... the manager will normally
oblige.

income withdrawal excess approach

amount interest addition grant

credit conducted surplus then
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Reading 2

7. Find the Russian equivalents in the left column for the English words

and word combinations.

1) paBHATBCS MaccuBam

2) opraHu3oBath opuc

3) COOTBETCTBYIOIIUE MTACCUBBI

4) BBITUTAYMBATH JICHBTH 10
TpeOOBAHUIO

5) npeabsIBUTH YEK

6) MPUHOCUTH MPOLICHTHBIN JTI0XO/T

7) ccyauTh KPyIHYIO CyMMY

8) BBINIUCATH YEK JJIsI CITUCAHMS CO
cyera

9) akuMOHEPHBIN KamuTal

10) o6pabaThIBaTh Y€KH

11) craBka mo npeno3utam

a) deposit rate
b) to process checks
c) net worth

d) to write a check on the account

e) to lend out a large amount
f) to yield interest
g) to present check

h) to pay the money out on demand

1) matching liabilities
j) to set up an office

k) to be equal to liabilities

Text 2. The Balance Sheet of a Simple Bank

The financial position of a bank, like that of any other firm, can be

shown by means of a balance sheet. As usual, assets are listed on the left-

hand side of the balance sheet and liabilities and owner’s equity on the

right-hand side. Following the accounting equation, assets are equal to

liabilities and owner’s equity.

Setting up a bank. Let’s begin by looking at a bank that has just been

started. As a model, we will use the Wolf Greek Bank in the town Wolf
Greek, Idaho. Bill Winchester starts the bank with $10,000 of his own



savings. The $10,000 buys a used mobile home, which Bill sets up as the
bank’s office. The day the bank opens for business, its balance sheet looks
like this:

Assets Liabilities and Owner’s Equity
Fixed assets $10,000 Liabilities $ 0
Owner’s equity 10,000
Total assets $10,000 Liabilities plus owner’s equity $10,000

Accepting a deposit. The first customer to walk into Bill’s bank is
Edith Bender. She brings in $1000 in currency that she has been keeping in
her cookie jar because there was no bank in town. She deposits the $1000 in
an account that will allow her to write checks and will yield interest at a 6

percent annual rate. At that point Bill’s balance sheet looks like this:

Assets Liabilities and Owner’s Equity
Cash $ 1,000 Liabilities:
Checking deposits $ 1,000
Fixed assets 10,000 Owner’s equity 10,000
Total assets $11,000 Liabilities plus owner’s equity $11,000

Following the principle of double-entry bookkeeping, Edith’s deposit
has created two entries on Bill’s balance sheet. First, the bank has a new

asset in the form of $1000 cash. Second, it has a matching liability in the
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form of Edith’s deposit. Deposits appear on a bank’s balance sheet as
liabilities because the bank must pay the money out on demand, either to
the depositor or to any person who presents a check that Edith writes
against the money in her account.

Making a loan. Bill does not yet have a source of income. The next
customer to come into the bank solves this problem. Roger Kahn, the owner
of Roger’s Grocery comes in to ask for a loan. Bill looks at his books to
decide how much he can lend to Roger. The bank has $1000 in cash, but it
would not be safe to lend out the whole amount. Edith might write a check
on her account at any time, and Bill will need cash in reserve to pay the
check. On the other hand, it seems unlikely that Edith will withdraw the
whole $1000 any time soon. Bill decides that it will be safe to lend $800 to
Roger and keep $200 in reserve. Roger agrees to pay 12 percent interest on
the loan and walks out of the bank with the $800. Now Bill’s balance sheet
looks like this:

Assets Liabilities and Owner’s Equity
Reserves (cash) $ 200 Liabilities
Loans 800 Checking deposits $ 1,000
Fixed assets 10,000 Owner’s equity 10,000
Total assets $11,000 Liabilities plus owner’s equity $11,000

Making the loan has not changed Bill’s total assets, liabilities, or net
worth. It has, however, traded a nonearning asset for one that pays 12
percent interest. In the coming year Bill will receive $96 in interest on the

$800 loan to Roger and will pay $60 to Edith as interest on her account.
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The $36 difference is income to the bank. Of course, the bank will also
have costs — heat for the trailer, the clerical costs of processing checks and
loan payments, and so on. But if Bill gets enough deposits, makes enough
loans, and controls his costs, he will be able to make a profit.

What makes it possible for banks to earn profits is the fact that they
keep as reserves only a fraction of what they take in from depositors. The
rest 1s lent back out at an interest rate higher than the rate paid on deposits.
The difference between the rate paid on deposits and the rate received on
loans covers the bank’s costs and, if the bank is properly managed, leaves
enough for its owners to make a profit. This way of doing business is called

fractional-reserve banking.

8. Find words and word combinations in the text which mean the
following:
a) to make a profit
b) equal liability
c) on requirement (claim)
d) place from which profit is gotten
e) involving no risk
f) to subject checks to a special process
g) commerce

h) appropriately

9. Answer the following questions.
1. What principle do banks follow in their activities?

2. How can the financial position of a bank be identified?
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3. If a person deposits money into account what does that allow him to
do?

4. Who must a bank pay the money out on demand?

5. What influences the amount to be lent by a bank?

6. Why do banks keep as reserves a fraction of all deposits?

7. How do banks make profits?

10 .Discussion. Turn to the last balance sheet for Bill’s Wolf Creek Bank.
Starting at that point, enter the following transactions on
the bank’s balance sheet:

a)  Carl Cramer deposits 35000 in a savings account. List the savings
account separately from checking accounts under the heading of
liabilities. Make the matching change on the left-hand side of the
balance sheet.

b)  Bill keeps 31000 of Carl’ deposit as reserves. No one applies for a
loan right away. In order to put the remaining 34000 of Carl’ deposit
to work earning interest, Bill buys $4000 worth of government bonds.
Update the balance sheet.

c¢)  Edith Bender come into the bank and withdraws $50 from her
account. Update the balance sheet.

11. Here are ten questions which a bank manager asks someone who
wants an overdraft. Write down or say each one preceding it with
“He wanted to know”

Example: Why do you want an overdraft’

He wanted to know why I wanted an overdratft.

1. Do you have a regular income?
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Would you prefer a personal loan?
Why do you need personal loan?

Are you in regular employment?

Have you any outstanding debts?
When do you propose to pay it back?
Would you rather have a personal loan?

Could you provide any security?

A o

Is your general financial position sound?

12. Act out the dialogue in pairs and then try to retell it in reported
speech.

Miss Posit (M.P.) — bank manager  Mr. Moore (M.M.) — a customer

M.P. Do seat down, Mr. Moore

M.M. Thank you. (He sits down)

M.P. Now Mr. Moore, the situation like this. Your account is in the
Red.

M.M. Pardon.

M.P. In the red.

M.M. T’m sorry. I don’t understand.

M.P. In the Red. Overdrawn.

M.M. Overdrawn. No, I am sorry. I’ve never heard this word before in
my life.

M.P. 1It’s very simple, Mr. Moore. It means that you’ve taken more

money out of the bank than you’ve put in.
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Reading 3
13. Read the text and choose one of the titles that best matches the text.

1. Some advice to survive in the competitive business.

2. Falling barriers to competition in US.

3. Government restrictions protect banks from competition.
4. Management of interest rate risks.

5.The 1980 Act put banks in more direct competition.

Text 3. Falling Barriers to Competition in US
In the past, banks and thrift institutions were limited in terms of the
services they could offer, the areas in which they could operate, and the
interest rates they could pay on deposits. These restrictions protected them
from competition with one another and with other financial intermediaries.

Now regulations in all of these areas are

changing.

*Product competition. In the past only
commercial banks could offer checking
accounts. Then, in 1980, the Monetary
Control Act gave thrifts the right to compete
with banks by offering checking accounts of
their own. At the same time, the act put

banks and thrifts in more direct competition

for loans allowing them to make more
consumer and business loans.
*Interest competition. Before 1980, regulations limited the rates that

could be paid on deposits. The Monetary Control system phased out the old
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interest rate ceilings and allowed banks and thrifts to compete for
depositors on an equal footing.

*Geographic competition. Banks and thrifts have long been protected
against interstate competition. The Monetary Control Act removed these
limits on interstate banking. Some banks have been allowed to take over
banks or thrifts outside their home states when a takeover seemed to be the
only way to prevent a failure and a suitable in-state buyer could not be
found. Banks have also set up offices outside their home states that make
loans, conduct international business, and do almost everything except
accept deposits. Finally, many banks have used the mails to solicit deposits
and credit card business outside their own states.

Surviving in the competitive business of banking is a big challenge.
The following advice should be offered:

*The banks that survive will be those that learn how to innovate.
Innovations that make full use of computers and telecommunications are
among the most important.

*Banks have to manage interest rate risks. They have to make more
use of loans that have variable interest rates to avoid the danger that a rise
in interest rates will leave them with low-yielding loans at a time when they
are forced to pay higher rates on deposits.

*Banking has to attract the most ambitious and hard-hitting managers.
The high-risk, high-reward world of banking will place a premium on
managers with energy, creativity, and vision.

*Banks have to use such strategies as market segmentation and

product differentiation to attract more customers.
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*Bank managers should do some careful strategic planning to decide just

what type of banking their firm can do best.

14. Choose the best way of finishing each statement on the basis of
what you have read.
1. Before 1980 US government limited banks’ activities in terms of:
a) usage of innovations,
b) low-yielding loans;
c) the service they could offer;
d) a market segmentation.
2. According to the text the reason for taking over banks is:
a) conducting international business;
b) probability of failure and availability of suitable in-state buyer;
c) setting up a new office;
d) protecting against interstate competition.
3. Banks have to manage interest rate risks because:
a) the old interest rate ceilings were phased out;
b) of limitations in terms of areas in which they could operate;
c) of competing with one another;
d) of danger of leaving with low-yielding loans.
4. Evidence suggests that when banks differentiate their products they:

a) attract more customers;
b) survive in the competitive business;
c) increase its market segment;

‘ d) all of the above.

5. Branch offices set up by banks outside their home states could offer:

a) making loans,
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b) accepting deposits;
c) prventing firms’ failures;

d) payment interest rates on deposists.

15. Speak on one of the following topics:
a. The problems banks and thrifts in US faced before 1980 Act.
b. What kinds of competitions banks and thrifts are involved in.

c. Prerequisites for surviving in the business of banking.

16. Translate the sentences paying attention to the forms and functions of
gerund.

1. After being approved by the president the plan was returned to the
finance department.

2. There is no possibility of our lengthenimg credit terms.

3. Some people don’t like being asked their opinions.

4. They raised the interest rate without evaluating the risk of leaving with

low-yielding loans.

I am still angry at his having broken an agreement.

He wa accused of not having followed the instructions.

The problem is not worth discussing.

© =N W

The clients were informed about their bank having been taken over by a
bigger one.

9. Don’t you mind our having changed the conditions of the contract?

17. Choose the proper forms of the gerund and translate the sentences.
1. The finance department doesn’t object to credit conditions ...

a) having been relaxed, b) being relaxed, c) relaxing
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2. He apologized to the managing director for not ... present at the meeting.
a) being, b) having been, c) being been

3. There 1s no hope of interst rate ... to combat inflation.
a) having been raised, b) raising, c) being raised

4. The customer complained of ... poorly.
a) serving, b) being served, c) having been served

5. I am surprised at your not ... to give you statement on your account.
a) having required, b) having been required, c) requiring

6. The bank succeeded in ... more customers.
a) having attracted, b) attracting, c) being attracted

7. 1don’t remember ... to the Treasurer.
a) introducing, b) being introduced, c) having been introduced

8. The building society insists on regular payments ... every month.

a) being made, b) having made, c) making

Essential words and phrases

Challenge — CIJIOXHAas 3a/1a4a, mpodaema
Charge card — KpeIUTHas KapTouyka
Charge slip — OJIaHK JJI PErUCTPALMK MOKYTIKHU C

3aIIMCBIO HA CUET MOKYIIATeNA

Demand — TpeboBaHue, CIIPOC

To force — 3aCTaBIIATh, IPUHYKAAThH

Fraction — JIOJISL, DJIEMEHT

Fraction-reserve banking  — cucrema ¢ppakiiMOHHBIX (YACTUYHBIX )

pe3epBOB B OAHKOBCKOM JI€Jie

To keep financial records — BecTH (MHAHCOBBIN yUET
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Matching — COOTBETCTBYIOLIUN
Money supply — JIEHEeXHas Macca, CyMMa JICHET B

oOpallleHrH, KOJTUIECTBO JIEHET

To phase out — JIMKBUIUPOBATH, yOpaTh
To place premium — JenaTh CTaBKy Ha
To process check — o0OpabaTbIBaTh Y€K
Product differentiation — HWHIABUAYaIU3alUs NPOAYKTa
Reserve — peseps, 3amac
To set up — OCHOBBIBATh, YUPEKIaTh, OTKPHIBATH
To solicit — J00MBAThLCS, HCKATh
To state — (dopMyaupoBaTh, U3JaraTh
Store — XPpaHWJIUIIE
To survive — BBDKHBATh
To take over — TIOTJIONIATh, OpaTh Ha ceOs BeJICHHUE /eI
To transfer — TIEPEBOJIUTH
Thrift institution — JICTIO3UTHOE YUPEKICHUE
Unit of account — eIUHHUIIA cuéTa
PART IV

UNIT 1. INVESTMENT INCOME
Reading 1
1. If you possess a large amount of money, what are advantages and
disadvantages of the following?
« putting it under the mattress

« buying a lottery ticket
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o taking it all to Las Vegas or Monte Carlo
o putting it in a bank

o buying gold

o buying a Van Gogh painting

« Investing in property or real estate

« buying bonds

« buying shares

2. Match each word in A with its synonym in B.

A. A share, to drop, securities, worthless, growth, certain, nominal value,
gain, to go under, to guess, fair

B. Stocks, face value, income, to bankrupt, to suppose, acceptable, increase,

determined, to fall, valueless, a stock

Text 1. Why Own Stocks and Bonds?

Many households own stocks and bonds. Intermediaries like pension
funds, insurance companies, and mutual funds are also big holders of these
securities. In financial circles, individuals or households that own securities
are known as individual investors, and financial intermediaries that own
securities are known as institutional investors. Both types of investors
own securities as a source of income. For both, there are two kinds of
income from stocks and bonds: investment income and speculative income.

Investment income is the return from holding a stock or bond that is
bought at a fair price. In the case of a bond, it takes the form of periodic
interest payments plus repayment of the face value on a certain date (on

which the bond “matures”). In the case of a stock, it takes the form of
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dividends plus the increase in the price of each share that results from the
firm’s growth. Depending in part on their tax situation, some investors
prefer shares in firms that pay large dividends while others prefer shares in
fast-growing firms with high retained earnings. A stock or bond is priced
fairly when the expected income per dollar invested in it is about the same
as that expected from similar stocks or bonds of other firms.

Speculative income is the return from holding a stock or bond whose
price increases more than is expected. For example, early in 2002, a big
firm was on the brink of bankruptcy. At one time the price of its stock fell
as low as $3.75 per share. To the surprise of many people, however, the
firm fought off the worst of its problems. By year’s end its stock was
trading at $11.50 a share. An investor who bought stock at $3.75 when
most people thought the firm was about to go under and sold it later at $
11.50 would have earned a speculative income of $7.75 a share. Of course,
if the firm had gone under, as it might well have, its stock would have
become worthless. The same investor would then have had a speculative
loss of $3.75 a share.

Speculative income can be earned on bonds as well as stocks. The
reason is that bond prices rise when interest rates fall, and fall when interest
rates rise. A person who buys bonds at a low price when interest rates are
high and resells them at a higher price after interest rates have dropped

earns a speculative gain as well as the interest income the bond pays while

it is held.
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There are two ways to earn income as a speculator. One is simply by
guessing right when there is no way of knowing whether the price of a
stock or bond will go up or down. The other way to earn income as a
speculator is to buy and sell stocks or bonds on the basis of information

that other investors do not have.

3. Find words or word combinations in the text which mean the
following:

a) a proportion of the annual profits of a limited company paid to
shareholders;

b) a company that spreads investors’ capital over a variety of securities;

c) financial organizations such as pension funds and insurance companies
which own most of the shares of all leading companies;

d) a person who uses the information not known to the public to make a
profit out of buying and selling shares;

e) a state of being insolvent: unable to pay debts;

f) after-tax profits that are held by a corporation for reinvestment rather
than being paid out as dividends;

g) net income expressed as a percentage of owners’ equity.

4. Fill in the blanks in the following sentences with the proper word or

word combination from the box.

retained earnings, brink,  gain,  institutional,

mutual funds, guess, matures, goes under

1. ... are big holders of stocks and bonds.
2. When the bond ... its face value is repaid to the holder.
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. When the firm ... its stock becomes worthless.
. Some investors prefer to buy shares in fast-growing firms with high... .
. When the firm is on the ... of bankruptcy the price of its stock falls.

. When a person buys bonds at a low price and then resells them at a

higher price he earns a speculative ... .

. One of the ways to earn speculative income is to ... whether the price of

a stock will rise.

. ... Investors are financial intermediaries that own securities.

5. Speak on the following:

1.
2.

What types of investors use securities as a source of income.
What forms investment income takes in the case of a bond and in the

case of a share.

. How speculative income can be earned.

6. Read the dialogue of Richard Mahoney, a Vice-President with

J.P.Morgan and Co. in New York with the interviewer and then

answer the questions following the dialogue.

Richard Mahoney: Generally speaking, bonds are obligations that are

issued by companies and governments that are in
essence promises to pay individuals or other investors
— providers of funds — and they generally provide for a
fixed rate of interest, that is a fixed repayment
schedule, and a date in the future at which the money
will be returned. They’re different, for example, from

stocks, which have an uncertain future pay-off,
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Interviewer:

Richard Mahoney:

Interviewer:

Richard Mahoney:

depending on a company’s performance, and no final
maturity date, so long as the company remains active
and solvent.

What’s J.P.Morgan’s role in the bond market? Are you
organizing the sale of bonds on behalf of companies,
or are you also buying bonds on behalf of investors?
J.P.Morgan has many roles in the bond market. We
work with companies and governments to help them
issue bonds, that is borrow money for their purposes.
We also have many investor clients who are
purchasing bonds for their own investment portfolios,
and those investor clients would be individuals, they
would also be pension funds who make investments on
behalf of their members for their retirement monies.
They would also be mutual funds which, in the United
States, have become a very popular form of investment
for individuals and constitute a very large source of
savings in the country.

For investors, what are the advantages of bonds as
opposed to other ways of investing money?

For investors, bonds represent an investment that,
generally speaking, carries a moderate degree of risk.
And investors like to hold a diversified portfolio of
investments, some with very very low risks, for
example, government securities, where the risk of non-

payment or default is very very low, whereas other
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parts of their portfolios would be considered much
higher risk, namely investments in stocks, so bonds
provide, generally speaking, a more moderately ... an
asset that has a moderate level of risk, although there
are some bonds that are more, more safe than others,
and that depends on the quality of issuer.Investors can
obtain a return on their bond investments by holding
them to maturity. These investors are usually
characterized as long-term investors or buy-and-hold
investors, and they would receive their return over
time by receiving periodic interest payments, usually
twice a year, in most structures, and then upon the
maturity of the bond, getting their principal back.

The advantage of trading bonds, for an investor,
and how an investor would realize their gains is
through the price appreciation that may accrue to a
bond during the time at which...during the time at
which the investor would hold it. For example, the
price of a bond is directly related to the level of
interest rates in the economy. If I could use a simple
example, if you purchased a bond today, that bond,
let’s say, would have a price of one hundred. Bonds
are denominated based on values of one hundred. If
Interest rates were to increase, that means that the
investor community demands a higher price for
lending their money. As a result the amount that you
could invest a dollar today would yield a higher return

than the value yesterday. Meaning that the bond you
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bought yesterday is worth slightly less, so perhaps it’s
worth ninety-nine. If you were to sell that bond you
would then have lost one point. On the other hand,
however, if interest rates fall, the value of that bond
that you purchased yesterday increases. So that an
investor over time may realize that bonds that were
purchased today have a higher value, as a result of
how interest rates have moved. They could be sold,
that capital gain is similar to the gain that you would
see from a share investment or a real estate investment
or other things, and would be added to whatever
interest you had earned over the life of holding that
bond.

1. What is the difference between stocks and bonds, in terms of income and

repayment?

2. What are the three types of investor clients mentioned?

3. Mahoney gives examples of types of investments that generally carry

very low, moderate, and higher risk. What are they?

4. What causes bonds to appreciate or depreciate in price?

Reading 2

7. Find the English equivalents for the following Russian words and

word combinations in the right column.

1) diversified portfolio a) KOMITaHUs C BBICOKOM Mepoit

2) to make good on

(MHaHCOBOIO pUCKa

b) BBINOTHATH 003aTENbCTBA

3) primary securities market | ¢)m306eraTh prucka

4) previously

d) mepBUYHBIN PHIHOK IIEHHBIX OyMar
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5) to view €) IPEAbSIBIIATh UCK Ha HEABUKUMOCTh

6) to eliminate f) moHMXaTh TOXOBI

7) to depress profits g) pacIuiaunBaThCs

8) to claim on assets h)ycTpausars

9) to avoid risk 1) paHbIie

10) to meet obligations ]) paccmaTpuBaTh

11) highly leveraged firm k) mopTdenb pa3IMUHBIX IIEHHBIX Oymar

Text 2. Risk and Return

The line between speculation and investment is not a sharp one, since
there is some risk in any investment. The difference is that an investor
views the risk as a necessary evil, whereas a speculator views it as an
opportunity. But for most people risk is something to be avoided, and some
securities are by their nature less risky than others. For example:

*Bonds are less risky than stocks. The reason is that interest on bonds
must be paid before any dividends are paid to stockholders. Also,
bondholders have the first claim on any assets that are left if the firm fails.

*Short-term bonds are less risky than long-term bonds. The reason is
that the closer the maturity date of the bond, the less the danger that a rise
in interest rates will cause its price to fall and the lower the danger the firm
could fail before the bond is paid off.

*Government bonds are safer than corporate bonds. State and local
governments rarely fail to make good on their bonds, and the risk that the

federal government will fail to meet its obligations is effectively zero.
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*Other things equal, stocks in highly leveraged firms are riskier than
those in firms with less leverage.

Because most investors prefer less risky securities, other things being
equal, the riskier ones must pay a higher return to attract buyers.

For any type of security, risk can be reduced by investing in more
than one firm. This is called diversification. The set of securities that an
investor owns 1is called a portfolio. An investor with stocks and bonds
issued by a number of firms is said to have a diversified portfolio.
Diversification does not eliminate all risks. Events that affect the economy
as a whole — recessions, high interest rates, and so on — may depress the
profits and stock prices of all firms. But most advisers recommend a
diversified portfolio. People with only small amounts of savings to invest
can get the benefits of diversification by buying shares in a mutual fund
that buys stocks and bonds in a broad range of firms. That brings us to the
markets in which stocks and bonds are bought and sold. These fall into two
groups. There is the primary securities market — the set of institutions
through which newly issued securities are sold to investors. And there are
a number of secondary securities markets. These are institutions through

which investors can buy and sell previously issued securities.

8. Answer the following questions about the text.

1. What is the difference between speculation and investment?

2. Why are bonds less risky than stocks?

3. What is the reason why short-term bonds are less risky than long-term

bonds?

4. In buying what bonds is risk effectively zero?
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5. How can risk be reduced?

6. What is a diversified portfolio?

7. Why doesn’t diversification eliminate all risks?

8. How can people with small amounts of savings to invest get the benefits

of diversification?

9. Explain in your own words what is meant by:
a) a diversified portfolio;
b) highly leveraged firms;

¢) a mutual fund.

10. Read (listen to) the dialogue about three different types of bonds and

answer the following questions.

1. When would companies be interested in issuing floating rate notes?

2. When would investors be interested in buying floating rate notes?

3. When would investors be interested in buying convertible bonds?

4. What is another word for ‘floating’?

5. What kind of investor (ordinary or speculative) would be interested in

buying junk bonds?

Richard Mahoney: Floating rate notes became quite popular as interest
rates around the world were deregulated. There was a
time in the banking system when interest rates were
regulated at fixed levels and most people chose to
borrow at a fixed rate of interest. Today we have many
options that a borrower can choose for the way in

which they will raise money. One of them is through a
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floating rate note, and like its name suggests, the
interest rate on that bond 1s variable. It is usually
indexed to a particular reference rate, such as the
prime rate, which varies from time to time, or
something called LIBOR, which is the London Inter-
Bank Offered Rate, so that a holder of those notes
would see the interest that they received vary over
time, depending on the levels of interest rates in the
market place.

A convertible bond is a type of bond that has
features of both a traditional bond, as well as a stock.
Convertible means that the bond is exchangeable for
equity or stock, provided certain conditions are met.
When a convertible bond is initially issued it looks
like an ordinary bond, it pays a fixed interest rate, it
has a final maturity date, but it also has a feature that
permits the holder to redeem it for shares in the
borrower, should certain conditions prevail, and
normally those conditions are related to the price of
the company’s equity, the general level of interest
rates.

Junk bonds are simply another name, the popular
name, if you will, for high-yield securities. They are
the bonds that are issued by companies that are seen to
have a very risk of default. You can think of the
securities 1ssued by the US Treasury, the US
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Government, as being at the other end of the risk
spectrum, seen as virtually immune from the risk of
default. Junk bonds are at the other end of the risk
spectrum, where there is seen a considerable chance of
default, but as a result, investors are paid a premium to

hold those securities because of their risk.

11. Translate the sentences paying attention to the forms and functions of

(98]
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participles.

. Being informed about issuing new shares the mutual fund decided to

buy a certain amount of them.

. The bonds having matured, the holder was repaid their face value.

. Having been obtained incidentally the information was used by the

speculator for buying stocks.

. The information obtained by the stockbroker was sold to the speculator.
. Being very busy he was not able to take the visitor.
. Money permitting, we’ll invest it in the mutual fund.

. Having earned a speculative gain the person decided to buy shares of

another company.

. Recession having affected the economy of the country, stock prices of

many companies fell.

. Buying stocks and bonds issued by a number of companies an investor

reduces the risk of losing his money.

12. Choose the proper form of the participle.

l.

Companies (having wished/wishing) to raise more money for expansion

can, sometimes, issue more shares.
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. The question (having been discussed/discussed) at the meeting yesterday
concerned the price of stocks issued.

. Records of sales (keeping/being kept) by an accountant department is an
important source of information for management.

. (Having collected/having been collected) the information was studied
carefully.

. Top management approved the prices (proposing/proposed) by lower-
level management.

. Another external factor (being affected/affecting) the company’s price
decisions, is competitors’ prices.

. (Having sold/selling) new shares first to the existing shareholders the
company offered the rest ones to the other members of the public.

. The price (quoted/having been quoted) at any time on the stock

exchange may differ radically from its nominal value.

Essential words and phrases

Brink — KpaWl, TpaHb

Claim — TMPETEH3Us, PUTA3AHUE, UCK

To depress — TIOHWXKATh, IMOJIABIISThH

Diversification — JuBepcudUKaINs, BIOKEHNE KaIlr-
Taja B pa3JIMYHbIC BUIbI [ICHHBIX
Oymar

Diversified portfolio — nopTdeb pa3InYHbIX BUIOB LIEHHBIX

To eliminate

Evil

Oymar

YCTPaHsTh, UCKIIFOYATh

3J10
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To fail — CTaHOBUThCS OAHKPOTOM

Fair price — B3aMMOBBITOJIHAS,

B3aMMOIIPpUCMIINMAA ILICHA

To fight off — u30aBUTHCH

Gain — TpHUOBLIb, TI0X0]T

To go under — PpazopATbCs

To guess — Joraaarbcs

Institutional investors — MWHCTUTYLIMOHAJIBHBIE HHBECTOPHI,

YUpCKACHUA-BKIIaTUNKH

To make good — KOMIIEHCHUPOBATh, PACIIAYUBATHCS,
BO3MEIIATh

To mature — TOJJIeXaTh MOTAIICHUIO WIIN OIUIaTe

To pay off — pacIulayuBaThCsl, pACCUUTHIBATHCSA

Primary securities market — TIEPBUYHBINA PHIHOK IIEHHBIX OyMar

Recession — CIaJl, 3aMeJJICHHOE Pa3BUTHE

Secondary securities market — BTOpPWUYHBIN PHIHOK IIEHHBIX OyMar

To view — paccMmaTpuBaTh

Worthless — HHUYETO HE CTOSANINI, HE UMEIOIIHI

HUKAKOU 1IEHHOCTH

UNIT 2. THE SECURITIES MARKETS

1. Match words or word combinations in A with their synonyms in B.

A. Full, to commit funds, to will, to switch, to raise capital, to handle the
sale, placement, proceeds, to turn over to, to misjudge;to determine

wrongly, income, to hand over to, location or arrangement, to trade, to
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collect money, to wish, full, to commit funds, to will, to switch, to raise
capital, to handle the sale, placement, proceeds, to turn over to, to
misjudge;

B. to determine wrongly, income, to hand over to, location or arrangement,

to trade, to collect , to invest capital, to change, entire.

Text 1. The Primary Market and Stock Exchange

Corporations that do not have enough retained earnings to finance all
of their investment plans raise much of the capital they need by selling
securities. A firm that wants to sell securities can do so in one of two ways.

First, a firm can sell securities directly to investors. For example,
corporations often give their shareholders the right to buy newly issued
stock before it is offered to the public. A firm may also try to find one large
investor like a pension fund, or a few such investors, that are willing to buy
the whole issue. Such a sale is called a private placement. Private
placements are fairly common for bonds, but less so for stock.

Very often firms do not handle the sale of new securities themselves.
Instead, they turn to intermediaries known as investment bankers.
Investment bankers offer a number of services. At a minimum, the
investment banker gives advice to the issuer and acts as an agent in selling
the securities. It may use its contacts to make a private placement. Or it
may simply do the best it can to sell the securities to the public, turning the
proceeds over to the issuer after taking a commission.

More often, the investment banker is asked to underwrite the new
issue. An underwriter buys a whole issue of securities and sells them to

the public. The advantage to the issuer is an agreed-upon price for the
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securities. The underwriter hopes to make a profit by selling the stocks or
bonds at a higher price than it pays for them. However, it also risks making

a loss if it misjudges the demand for the securities or if market conditions

change before they can all be sold.

L S

. 8
3
4
1
i

“Mrs. Liscombe? We are from the S.E.C. As undoubtedly know,

the stock market dropped 21.5 points last Thursday because of a

rumor that interest rates are going up. We have traced that rumor to

you, Mrs. Liscombe, and we are here to request that you keep your
perceptions to yourself.”
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When a firm issues a large stock of securities, no single investment
banker may want to accept the risk of underwriting it. In such cases a
syndicate is formed to sell the securities. One member acts as the lead
underwriter, but all the members agree to buy part of the issue.

Once they have been sold, stocks and bonds do not need to stay in the
hands of those who bought them first. Suppose, for example, that a
relative gave you 100 shares of Delta Airlines stock to help pay for your
college education. You can’t pay your tuition bill with the shares
themselves; you need cash. To make the switch from stocks to cash, you
turn to a secondary securities market. These markets enable people to sell
securities that they own but no longer want to hold, while others can buy
the securities of firms that are not issuing new bonds or shares of stock.

Secondary markets are not a source of funds for firms or units of
government. They move funds and securities from one investor to another.
Even so, they are a key part of the financial system. Without a secondary
market, people would be much less willing to buy securities when they are
issued. It would be hard, for example, to sell twenty-five- year bonds if
they could be sold only to people who were willing to commit funds for
the full period. But in a financial system with active secondary markets,
people are willing to buy such bonds because they know they can change
their minds if they need to.

The best-known secondary securities markets are the stock exchanges.
These are places where stockbrokers who represent buyers and sellers of
securities meet to arrange trades for their clients. Stockbrokers, like the
wholesale brokers are agent intermediaries. They set up purchases and

sales among their clients without taking title to the securities being traded.
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2. Find the words or expressions in the text which mean the following:

1) the dealer in stocks and shares operating on the stock exchange;

2) an investment banker or syndicate which buys a whole issue of securities
from a firm and ells them to the public;

3) a financial intermediary that collects payments from working people and
pays them an income after they retire;

4) a place where brokers who represent buyers and sellers of securities
meet to arrange trades for their clients;

5) a statement of charges for education;

6) to obtain a right for ownership;

7) the sum derived from a sale, venture.

3. Find sentences in the text characterizing the following:

1) reason why companies raise the capital by selling securities;

2) the notion what the private placement is;

3) the way investment bankers obtain their profits (after selling the
securities to the public);

4) the notion of underwriting;

5) the reasons of making losses incurred by underwriters;

6) the case when a syndicate of underwriters is formed;

7) what opportunities secondary securities markets give people;

8) the functions of stockbrokers on the stock exchange.

4. Answer the following questions about the text.
1. In what two ways can a firm sell its securities?

2. What services do investment bankers offer?
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3. What is the advantage of underwriting for issuer?

4. How do underwriters make their profits?

5. Why can’t secondary markets be considered as a source of funds for
companies and units of government?

6. Who acts on behalf of buyers and sellers on the stock exchange?

5. Translate the following passage into Russian in a written form and
then give it a title.

The Stock Exchange is a highly sensitive market and stock prices
fluctuate in response to a wide variety of pressures. Speculators should
always be looking to the future and attempting to anticipate events. For
example, businesses are independent to a large extent and will be affected
by the general economic climate. Orders for ships lead to orders for steel
which in turn leads to money in the pocket of shipbuilders and steelworkers
to buy television sets and carpets. Conversely, the closing of a motor
assembly plant causes a fall in the sale of beer which increases the number
of redundancies, this time in the breweries.

Speculators pay attention when the Chancellor of the Exchequer
introduces his Budget. This is the time when tax rates are changed, future
government spending patterns are declared and the effect of the changes on
their securities can be gauged.

The government also promotes its policies through the Bank of
England, perhaps using the government broker to conduct open market
operations. Government stocks are sold when the government wants to
reduce the supply of money. This will pressurize the banking system to

raise interest rates with the effect of reducing inflation. The government
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broker buying government stocks will have the opposite effect, lowering
interest rates and reducing unemployment.

All these things will affect the price of shares on the Stock Exchange,
as will the fact that some political parties are seen as more sympathetic to
business interests. Prices will be particularly sensitive at the time of
parliamentary elections.

6. Case study: Ethical investments:
Imagine that a relative, who knows very little about finance, asks you to
invest $10,000 for her in a portfolio of investments, but insists that she only
wants her money invested in ‘wholly ethical companies’.
Which of the following activities would cause you to rule out a company as
a possible investment?

« Emitting a large quantity of CO, into the atmosphere

« Factory farming

« Making donations to political parties

« Manufacturing weapons

« Marketing powered baby milk in countries without pure water supplies

« Not recognizing trade unions

« Paying low wage levels in developing countries

« Producing nuclear energy

« Selling alcohol

« Selling tobacco

« Relocating production to countries with lower labor costs

« Testing cosmetic products on animals

« Trading with oppressive regimes
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7. Complete the sentences with the correct auxiliary and translate them
into Russian.

1. Funds ... be available for a purchase at the vital moment.
a) may not b) must not c¢) should not

2. A maxim (mpuniui) which ... be followed by all investors is to buy at
the bottom and sell at the top.
a) might b) need c¢) should

3. The Board of Directors .......... a mixture of cash and their own shares
to the shareholders.

a) seems to have offered b) should have offered c) must have offered

4. Artificial demand for these shares .......... have been created by a group
of wealthy backers.
a) are likely to b) must c¢) should

5. I’'m worried that if we don’t meet the deadline, we ... lose this client.
a) will b) can c) are likely
6. Sales ...very likely to continue to rise this summer.
a) should b) are c) will
7. There 1s no doubt about it any more. The planning authority ...agree to

our request.

a) definitely won’t  b) is likely to c) probably
8. They ... be doing well because they have just closed down two of their
subsidiaries.
a) mustn’t b) shouldn’t c) can’t

9. Quoted shares ... be acquired by anyone who is prepared to pay market
price for them.

a) needn’t b) can c¢) had to
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To commit

To handle the sale
Investment bankers
To misjudge

Private placement

To raise capital
To set up

Stock broker
Stock exchange
(To) switch

To take title
Tuition bill

To underwrite

Underwriter

Essential words and phrases

OBITh TPUBEPKEHHBIM

IPOU3BOAUTH POJAKY
WHBECTUITMOHHBIN OaHK

HEOOIICHUTh, HETIPABUIILHO OIICHUTH
WHIUBUTyTbHOE pa3MeINIeHHe (IIEHHBIX
OymMmar)

MOOHIIN30BATh KamUTAall

CHa0xaTbh, 00eCIIeUnBaTh

OUPKEBOI MaKJep

dbon0Bas OUpKa

IEPEXOUTH, TOMEHSTh, IEPEBECTU
MOJIYYUTh TIPABO

c4€T 3a O0ydeHue

Ha/IMMHACHIBATh, TAPAaHTUPOBATH
pa3MeIIeHre IICHHBIX OyMar Ha PhIHKE

HaJIIHUCATENb

PART YV

UNIT 1. RISK AND RISK MANAGEMENT

1. Translate into Russian the groups of words of the same root.

Certain-certainly-certainty; to speculate-speculative-speculator; to lose-

loss-lost; to absorb-absorption-absorbing; to avoid-avoidance; to save-safe-

safely; profit-profitable-profitability; to rob-robbery; to expose-exposure; to
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prevent-prevention-preventive; to accept-acceptable-acceptance,; to cover-

coverage; to predict-prediction.

2. Find the English equivalents for the following Russian words and word
combinations in the right column.

1) KOHTpOIMPOBATH PUCKHU a) to suffer losses

2) npeanpuHUMAaTh 3aTPaThl- b) to cause loss

3¢ PeKTUBHBIE MEPHI

3) UMEIOILIHI CMBICIT c¢) to handle risks

4) OTKJaIbIBAaTh CPEJICTBA d) to expose to risk

5) monBepraTbCs pUCKY e) to deal with

6) BecTH Jena f) to set aside funds

7) OBbITh MPUUMUHOU YOBITKA g) worthwhile

8) moHecTH yObITKU h) to take cost-effective steps

Text 1. Types of Risks and Methods of Risk Management

Risk means uncertainty about a possible loss. There are several ways
to classify risks. It is common, for example, to distinguish speculative risk
from pure risk. A speculative risk is one that involves the chance of a gain
as well as a chance of a loss. Buying a lottery ticket or a share of stock is a
speculative risk. A pure risk, on the other hand, involves only the chance of
a loss. The chance of an airplane crash is a pure risk.

Pure risks can be grouped by type of loss. A personal risk is one that
causes direct loss to a person — risks to life and health and the risk of the
loss of one’s job are examples. A property risk is one that affects people

indirectly through destruction, theft, or loss of the use of property. Finally,
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a liability risk is the risk of financial loss when a firm’s or a person’s

actions cause personal or property loss to someone else.

Gain
—>
l’?
Speculative | ° No
Risk Change
Loss
L—»
?
Pure No
Risk Change
L 5| Loss

Risk management is the task of reducing the costs connected with
risk. This means more than just keeping losses to a minimum. Losses are
costly, but taking steps to keep them from happening is costly too. A good
risk manager balances these two kinds of costs in planning how best to deal
with a risky world. This means choosing among four methods of managing
risk: avoidance, loss prevention and control, insurance, and absorption.

The first method of risk management is to avoid the risk. For a firm, it
might mean taking a product off the market, even though it does the job
well when used safely. Risk avoidance is an effective way to cut losses. The
problem is that in avoiding the risks of some activities one also avoids the
benefits. Firms that avoid new products because they might be risky cut

themselves off from markets that might be profitable.
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Losses caused by risky activities can often be either prevented or
controlled. To prevent a loss means to keep it from happening; to control it
means to limit the damage if a loss does occurs. A gas station owner might
try to prevent loss from robbery by keeping the office well lit after dark.
But since there is a chance that even a well-lit station will be robbed, losses
can be controlled by limiting the amount of cash kept in the office.

Even when all cost-effective steps are taken to avoid, prevent, and
control losses, some will occur. A balanced risk management program
therefore almost always includes insurance. Insurance is a process in which
a group of people who are exposed to the same kinds of risks place funds in
a pool from which members who suffer losses are compensated.

The final method of risk management is to absorb the risk, that is, to
accept the risk of loss without spreading it by means of insurance. A

person or firm may decide to absorb risks for two reasons.

THAT'S WHY
IT'S SO CHEAP
[

METEOR INSURANCE || TEN DOOLLARS OF A METEOCR

A\ S e 9@”

M1, I'M SELLING =T cosTs ONL\y‘F" 'LISTEN, THE CHANCES

First, there are cases in which other methods of risk management are
not worth the cost. This is often the case with risks that have only a small
chance of taking place. For example, most people absorb the risk of being
hit by a meteor rather than, for example, living near the North or South

Pole, where fewer meteors strike. Absorption is also the best way to handle
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risks that involve small losses. For example, many people who drive old
clunkers don’t find it worthwhile to buy collision insurance.

Large firms may have a second reason to absorb risks. They may be
able to practice self-insurance, a process in which an organization that is
exposed to many risks of the same kind set aside funds from which to
cover any losses that result. For example, the owner of a big fleet of taxis
could predict a certain number of accidents a year and set aside a fund for
making the repairs. This would save some of the costs of dealing with an

Insurance company.

3. Choose the word which best completes each sentence.

1. The risk which involves the chance of profit is called ...... :
a) speculative risk  b) personal risk c) liability risk

2. When a firm’s activities cause property loss to someone it is ........ :
a) liability risk b) risky world  c) risk to life

3. A risk manager should ....... among four methods of managing risk.
a) select b) distinguish c) decide

4. The disadvantage of risk ....... might be cutting the benefits.
a) involvement b) management c) avoidance

5. To limit the damage if a loss takes risk ....... method is used.
a) involve b) control c) spread

6. To keep the loss from happening means its ....... :
a) taking off b) compensating c) prevention

7. 1f risks have a small chance of happening, a risk manager chooses the
method of risk ....... :

a) absorption b) avoidance c¢) handling
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4. Answering the following questions speak on the main points of the text.
1. How are risks commonly distinguished?

What three groups are pure risks divided into?

What are the four methods of managing risks?

What examples can you give of people’s avoidance of risks?

Why is risk avoidance not the whole answer to risk management?

What is meant by preventing a loss?

How can losses be controlled? (Give your own examples)

Why does risk management always include insurance?

A S A T

What is insurance?
10. In what cases risk absorption method used?
5. Complete the sentences with ‘ll, ‘d, won’t, or wouldn’t on the basis of

the rules given in the box.

We use the first conditional when we think the expected outcome
of a situation is very likely.

If we increase sales, we’ll make a profit.

If we delay, we’ll be too late.

We use the second conditional when the outcome is less certain or
is imaginary.

If we reduced our costs, we’d be in a stronger position.

If we increased our spending, we’d be in serious financial difficulties.
The third conditional is used to speculate about consequences of
events that happened or began to happen in the past.

If I had known the work was going to take so long, [ wouldn’t have
started it before the weekend.

If there hadn’t been a spelling mistake in the letter of credit, the

order would have arrived on time.
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AfITwereyou, I ........ look for a more reliable supplier.

I’m sure we ... get this contract unless we offer a lower price.

. We ... have to look for another supplier if you were able to dispatch

immediately.

you?

If you can’t deliver this week, we .

..have to turn to another supplier.
I think that if you offer them some concessions they ... do the same.
If you didn’t offer such good terms, we ... do business with you.

What discount ... you offer us if we decided to spend 1 million with

. If we improved the payment terms, ... you consider buying from us?

. If we join an association of producers, we ... get a better price for our

product.

. Match these sentences halves.

. If you hadn’t improved your
delivery terms,

If you gave us a discount of 10%,

. If your payment is overdue,

If they had made a lower bid last
month,

. If I had foreseen the extent of the
damage,

If you paid late,

If they pay within 30 days,

a) ... we’d offer a 5% cash discount.

b) ...we would have closed your
account.

¢) ... we would place a firm order.

d) ... we would have accepted it
immediately.

¢) ...we would have found a new
supplier.

f) ... we’ll offer a 5% cash discount.

g) ... we would have checked all our

insurance policies.
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8. If your payment had been

overdue,

9. If they bothered to pay promptly,

Absorption
To avoid
Avoidance
Cost-effective
To cut off

To deal with
Destruction
To distinguish
To expose
Gain

To handle risk
Liability risk
Pool

To predict
Prevention
Pure risk
Rather than
Robbery

To set aside

h) ... we’d have to close your

account.

account.

Essential words and phrases

MIOTJIOIICHHE, PACTIPEICIICHHE
u30eratTh, yKJIOHIThHCS
YKIIOHEHUE
3aTpaThl-3HEKTUBHBIN
YXOIUTh, IPEKpaIIaTh
3aHUMAaThCS, UMETh JIETIO C
paspylieHue

paznuyaTh

MO/IBEPTaTh

JI0X0/1, TIPUOBLTH
KOHTPOJIUPOBATH PUCK
OTBETCTBEHHBIN PUCK

dbou

IIPOTHO3UPOBATH, ITPEACKA3HIBATH
peIOTBPALLEHUE

YUCTBIN PUCK
PEeANOUYTUTETbHES
orpabieHue

OTKJIAJIbIBATH (JICHBIH)
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To spread — PpacmpoCTPaHATh, PACIPEICIITH

To take off — yOupaTh, CHUMATh
Uncertainty — HEOIPENEJEHHOCTh, HEHAE)KHOCTD
Worthwhile —  CTOSIIHUUA

UNIT 2. THE INSURANCE BUSINESS

Reading 1

1. Match up words and word combinations in A with their synonyms in B.

A. to amount to, to refund, goal, to make up, extra, association, network, to
seek, in the event of, total, to take on, in order to.

B. For the purpose of, to assume, whole, in case of, to try to get, a system,
fellowship or partnership, additional, to compensate, to repay, aim, to be
equal to.

2. Match the following words and definitions.

1) to suffer a loss a) a combination of resources

2) mutual insurance  b) a trip to a place and back to the starting point

company

3) margin c) the business of insuring against losses

4) solvent d) a place where business is carried on by brokers

5) surplus e) able to pay all one’s debts

6) exchange f) a quantity over and above what is needed and
used

7) insurance g) provision for error (increase)

8) a round trip h) an insurance company that is owned and
controlled by its policyholders

9) a pool of funds 1) to experience damage
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Text 1. The Structure of Insurance Business

All insurance companies have two sources of income: premiums paid
in by the policyholders whose risks the company insures, and investment
income earned on the pool of funds that have been paid in as premiums but
not yet paid out to cover losses. They also have two types of costs: the cost
of claims paid to policyholders who suffer losses, and other expenses,
including the cost of administration and marketing.

Stockholder-owned companies. Many insurance companies are
ordinary corporations. They issue stock and are owned and controlled by
the stockholders. The goal of such firms is to earn a profit for their owners.
This can be done only if premiums plus investment income amount to
more than total claims plus operating costs. If costs exceed income, claims
must still be paid, and the stockholders suffer a loss. Stockholder-owned
firms are the main type of property and liability insurance company.

Mutual insurance companies. Mutual insurance companies are a
type of cooperative. They are owned and controlled by their policyholders.
Like stockholder-owned companies, they must have enough income to
cover their costs in order to remain solvent, but their profits and losses are
handled in different ways. The most common method is to set premiums
high enough to cover claims and expenses, with a generous margin for
error. At the end of each year, the surplus is refunded to policyholders as a
dividend. Less often, mutual companies charge a premium that is just high
enough to cover normal claims and expenses. If claims are higher than
expected, the company has the right to charge policyholders an extra
amount to make up the difference. Mutual insurance companies are the

main type of life insurance company.
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Lloyd’s associations. A Lloyd’s association is a third way of offering
insurance. It is a network of insurers who accept risks through a central
exchange. The best known of these associations is Lloyd’s of London.
Lloyd’s of London is not an insurance company in the ordinary sense.
Instead, it is much like a stock exchange. A person who wants to be insured
by Lloyd’s of London contacts a broker, who in turn seeks to place the
insurance with some of the 1800 members of Lloyd’s. To handle large
risks, the members form syndicates of as many as 200 or 300 members. For
example, a shipowner might get $10 million worth of coverage for a round
trip by an oil tanker from a syndicate of 200 members, each of which
receives half of one percent of the premium and must pay $50,000 of the
claim in the event of a total loss. Lloyd’s of London has strict rules to make
sure that its members are able to cover the risks they take on.

Government insurance agencies. Many government agencies also
provide insurance. The Federal Insurance Corporation insures savers
against the risk of bank failure. Federal agencies provide crop and flood
insurance. Some government agencies offer true insurance. They collect

premiums, pool the funds, and pay claims out of the pool.

3. Complete the following sentences to summarize the text.

1. All insurance companies have two sources of income: ...

2. Insurance companies have two types of expenses such as ...

3. The stockholder-owned companies earn profits for their stockholders if ...
4. Mutual insurance companies handle their profits and losses by ...

5. If claims are higher than expected a mutual insurance company...

6. A Lloyd’s association is a network of insurers ...
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7. A person who wants to be insured by Lloyd’s of London ...

8. Government insurance agencies provide ...

4. Choose the word which best completes each sentence.

1. The life fund is a pool of money into which all the premiums are paid
and from which all ...... are eventually paid out.
a) loans b) savings c) benefits

2. The greater the risk or the chance of it happening, the ...will be the
premium needed to cover it.
a) higher b) lower c) cheaper

3. The ... date is the date in the future when the policy comes to an end.
a) fixed b) official ¢) maturity

4. Insurance makes trading easier by ... a variety of risks.
a) eliminating  b) describing C) ensuring

5. Risks must be ... before they can be insurable.
a) understood  b) unexpected c¢) calculable

6. It can be ...with reasonable accuracy how many houses in Britain will be
destroyed by fire next year.
a) predicted b) indicated c) emphasized

7. When a householder is calculating the value of his house for ...
insurance purposes, he or she should deduct the value of the land.

a) life b) marine c) fire

Reading 2
5. Translate the groups of words of the same root into Russian.
To except-exception-exceptional; similar-similarity; to exceed-excess-

excessive-excessively;  to  require-requirement-required;  accurate-
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accurately-accuracy; to intend-intention-intent; to occur-occurrence; to

determine-determination-determinative; to agree-agreement-agreeable.

Text 2. The Concept of Insurable Risk

Insurance companies take on many kinds of risks — fire, shipwreck,
sudden death, illness, and many more. They do not take on risks of all
kinds, however. With few exceptions, they do not insure speculative risks.
Even among pure risks, some are insurable and some are not. Ideally, an
insurable risk has six traits: (1) many similar units are exposed to the risk;
(2) the loss is accidental; (3) the loss can be measured; (4) the loss is not
catastrophic; (5) the chance of loss can be calculated; and (6) the premium
must not be excessively high.

Many similar units. An insurable risk should be one that many similar
units are exposed to. Risks of fire, illness, burglary, and so on all fit this
requirement. When many similar units are exposed to a risk, the insurance
company can use the law of large numbers to predict losses with great
accuracy. Unique events, by contrast, usually are not insurable.

Accidental loss. Normally only accidental losses can be insured.
Suppose a firm offered insurance against house fire set by owners. Only
people who intended to burn down their houses would buy such insurance,
so the concept of pooling risks would not apply. There are, however, a few
exceptions to the rule that only accidental losses are insurable. For example,
many life insurance policies cover the risk of suicide if the policy has been
in force for a year or more.

Measurable loss. Insurable losses must be measurable, meaning that

it must be possible to determine whether a loss has actually occurred and,
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if so, how great the loss is. Events like fire, death, robbery, and most
illnesses meet this requirement. In the case of life insurance, no attempt is
made to measure how great the loss is. Instead, the amount to be paid is
agreed upon when the policy is bought.

No catastrophic loss. A catastrophic loss is one that affects a large
number of policyholders at the same time. Such losses cannot be insured
because they do not follow the rule that the few who suffer the loss are paid
out of the pool of funds paid in by the many who do not suffer the loss.

Calculable chance of loss. For a risk to be insurable, it should be
possible to calculate the chance of a loss. This calculation is made easier if
many similar people or firms are exposed to the same risk. That is not the
only requirement, however. Some events are so rare that it is hard to
calculate the chance of their occurring, even though many people are
exposed to the risk. For example, it is impossible to calculate the chance
that a volcano will erupt.

Reasonable premium. The final trait of an insurable risk is that the
premium is reasonable. If the premium required is almost as great as the
loss, or even exceeds it, no one will buy the insurance.

Insuring uninsurable. The concept of insurable risk is not absolute. In some
cases it is possible to buy insurance when one of the six factors that we
have listed is not present. Lloyd’s of London is famous for insuring unique
risks. In one case it insured NBC television against the risk that the United
States would pull out of the 1980 Moscow Olympics. When the United
States did pull out, Lloyd’s paid NBC $80 million. Lloyd’s is able to insure

such risks because it spread them among syndicates with many members.
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The members offset losses with profits on policies for other unique risks

where no loss takes place.

6. Find words or expressions in the text which mean the following:

Characteristic, to determine, to meet requirements, to think (to assume), to
make burn, to be in full strength, to take place (to happen),to arrive at

understanding, not expensive, to distribute,to compensate for, a happening.

7. Match the meanings given below to the words in the box.

Underwriter, premium, claim, insurer, insured,

comprehensive, syndicate, broker, catastrophe

[E—

. Something which would cause an insurance company substantial losses.

\O]

. The payment made to the insurance company when the proposal is
accepted.

3. What needs to be made when a loss 1s incurred.

4. The organization which provides insurance cover.

5. The person who has an insurance policy — also called the policy holder.

6. The type of policy which offers cover against a variety of risks.

7. A group of underwriters ay Lloyd’s of London.

8. Someone who advises and arranges policies that are offered by many
different companies.

9. Another name for the insurer.

8. Match up the half-sentences below.

1. If the chance of loss can be a) ... by distributing them among
calculated syndicates.

2. Measurable risk means b) ... if the premium is not reasonable.
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3. If someone’s policy has been c¢) ... because too many people may
in force at least for a year suffer the loss.

4. The insurance company can  d) ... both parties agree upon the amount

predict Losses with great to be paid.
accuracy

5. When the life policy is e) ... that it is possible to determine how
bought great the loss is.

6. Catastrophe losses are not f) ... a person may insure himself
insurable against the risk of suicide.

7. No one will buy the insurance g) ... if many similar parts are exposed
to risk.
8. In some cases Lloyd’s insures h) ... the risk is considered to be

some uninsurable risks insurable.

9. Read and translate the telephone conversation and do the task

following it.

Julie Shaw is an insurance executive in the fire insurance department of
Coldstream Insurance PLC. She is presently dealing with a ‘phone call
from Harry Cartwright, a Dorset farmer whose outbuildings were damaged
by fire last night. His farm was gutted and two of his three wooden

cowsheds were badly damaged.

JULIE: Fire department.

HARRY: I’d like to speak to someone about a fire I had last night at my
farm.

JULIE: Do you have a policy with Coldstream?

HARRY: 1 do. That’s why I’m phoning you now.

JULIE: Alright, sir. Could you give me the number of the policy.
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HARRY: It’s FM 768543 BS8S.

JULIE: Can you give me a moment while I look up your records in the
computer .... Are you Mr Catwright ... Harold Cartwright at
Crane Swyre’s Head?

HARRY: That’s right.

JULIE: You say you’ve had a fire. Can you tell me what happened?

HARRY:Well, we woke up in the night to find the bam blazing. We

managed to get the cattle out of the cowsheds, then the fire
spread.
JULIE: This policy doesn’t cover the livestock.

HARRY: 1 realize that.

JULIE: Do you have the policy in front of you?

HARRY: Yes.

JULIE: Can you refer to Schedule One?

HARRY: Yes, yes, I’'m looking at it.

JULIE: Can you confirm that the items we’re referring to are the
outbuildings number one to four.

HARRY: That’s right. Only we managed to save the cowshed ... number

three on the schedule.

JULIE: No damage?

HARRY: Well, it’s badly scorched (onansars).

JULIE: Do you know how the fire started Mr Cartwright?

HARRY: Not really. It’s an open barn and with this warm dry weather it

can get very hot. It could have been internal combustion. But
we’ve had a fire raiser in the area. Old Joe Connel lost a couple of
haystacks last month .... and that was deliberate.

JULIE: 1f there’s any question of arson, the policy will have to be notified.
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HARRY: 1 realize that ... but there’s no way I can tell.

JULIE: Alright. I’ll send you a claim form right away. Incidentally, I’'m
Julie Shaw. If you have any difficulties in completing a claim form
let me know.

HARRY: Thank you for your help. Goodbye.

JULIE: Goodbye Mr. Cartwright.

Following on from the previous telephone conversation, Julie Shaw has
now sent a brief letter to the policy holder together with an accompanying
claim. You are asked to complete the claim form from the following
information:

Crane Farm consists of a farm house and four our buildings, all of which
are covered by Coldstream Insurance PLC Policy No.FM 768543 B88. The
premium of $4,000, due on I* January last was paid on that date and the
amount of cover is $300,000 for the buildings and 350,000 for farm
equipment and machinery. The sole owner of the farm is Harold
Cartwright.

Harry’s wife woke him in the early hours of Friday last because of sounds
of distress coming from the cowsheds. When they looked through the
window they saw the barn on fire. Even as they watched the blaze was
spreading to the cowsheds and they rushed downstairs with their son and
daughter to see what could be done.

While Harry’s wife and daughter led the dairy cattle to safety, he and his
son concentrated on putting out the fire in two of the cowsheds.

Two young calves were unfortunately killed before they could be helped.
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The roof of one of the cowsheds was totally destroyed, while the walls of
both buildings were badly damaged.

They gave up any attempt to save the barn which was razed to the ground
before the fire engines arrived.

In one of the cowsheds, a milking machine, which cost 31,200 when it was

purchased eighteen months ago, was severely damaged.

Coldstream Insurance plc Goldhawk House,
Vale Road, London NW6 5JT

Telephone 071 242 2000 Fax 071 242 3000
Date:

Mr H Cartwright

Crane Farm

Swyre’s Head

Dorset BH12 SHA

Dear Mr Cartwright

Fire Policy FM768643 B88

In response of your telephone call this afternoon I am
enclosing a claim form for you to complete. As soon as
you return the form I will arrange for a loss adjuster to
visit the farm to evaluate the losses you have incurred

and discuss the scope of cover afforded under the terms

of your policy.

Yours sincerely

Ms Julie Shaw
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Coldstream Insurance plc Goldhawk House,

Policy Number
Type of Insurance

Vale Road, London NW6 5JT

CLAIM FORM

Please describe fully the events giving rise to the claim:

Please advise the steps you have taken to mitigate the losses:

Please give a complete list of assets lost or damaged as a

results of these events:

Description

Date of
purchase

Original | Estimated cost of | Estimated

cost | replacement™(£s) extent of
(£s) damage (£s)

*Please submit two competitive estimates for each asset.

Signature of policy holder:...........ccoovvviiriiinnnnnn. Telephone
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10. Find the Russian equivalents for the following English expressions in

the right column.
1) to miss a certain trait

2) to hold a mortgage on

3) to fake a loss

4) to collect a claim

5) to drive a premium high
6) to take a chance

7) to involve big policies

8) actual losses

9) to drop policies

10) to respond by raising
premiums

11) to reject an application

12) exposure to robbery

13) to take a physical exam

14) to allow for moral hazard

a) YYUTBHIBATh MOPAIBHBIN PUCK

b) mpoiTH MEeTUITMHCKOE
oOcJie1oBaHme

C) MOJBEPKEHHOCTH OrPadIICHHUIO

d) oTka3aTh B 3asBJICHUU HA CTPAXOBKY

€) pearupoBaTh MOBBIIICHUEM TPEMUIA

f) oTkazaTbcs OT CTPAXOBOK

g) dakTuyeckue yObITKH

h) 3anelicTBOBaThH CTPaxOBKH Ha

KPYITHBIE CYMMBI

1) BOCIIOJIB30BATHCSI BOBMOXKHOCTBIO

J) TIOBBICUTBH MPEMUIO

k) mostyuuTh IEHBI'M MO CTPAXOBKE
1) chabpukoBaTh yOBITOK
m) AepKaTh 3aKIAJHYIO HA

n) HE UMETh ONPEACIEHHOTO MPU3HAKA

Text 3. Other Factors that Affect Insurability

The six traits define an insurable risk. If anyone of them is missing,

risk management through private insurance becomes difficult if not

impossible. Other factors also can make private insurance difficult or

impossible.
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Insurable interest. For one thing, the buyer of an insurance policy is
expected to have an insurable interest in the risk. This means that the policy
holder must suffer if the loss takes place. Thus, a family can buy fire
insurance on its own house, and so can a bank that holds a mortgage on the
house. But a person cannot buy insurance on a neighbor’s house or on the
life of a movie star in the hope of collecting if a loss occurs.

Moral hazard. As we have seen, to be insurable a risk must be
accidental. However, there is a chance that a policyholder will fake a loss
in order to collect a claim. The owner of an apartment building that cannot
be rented at a profit might burn down the building to collect insurance. This
possibility is known as moral hazard. Insurance companies must allow for
moral hazard when setting premiums. All policyholders are forced to pay
more in order to cover losses caused by the dishonest few. In some cases
moral hazard may drive the premium so high that the risk becomes
uninsurable. Fire insurance on buildings in run-down urban areas is hard to
buy for just this reason.

Morale hazard. Moral hazard is a matter of dishonesty. But
insurance companies also face the risk that policyholders will become
careless or take extra chances because they know they are insured. This is
known as morale hazard. Would you be more careful about locking your
car if you were not insured against the risk of theft. Insurance companies
say that the answer to such questions is yes, at least for many people. When
big policies are involved — such as fire insurance for an office building —
the company may insist on certain loss control measures in order to reduce

morale hazard.
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Adverse selection. A final problem is adverse selection. This refers to
the fact that people who are more likely than average to suffer a loss also
are more likely to buy insurance. Suppose that an insurance company finds
that one gas station out of one hundred is robbed in an average year, and
sets the premium on this basis. Owners of gas stations in bad parts of town
will think the premium is a bargain. Fewer owners of gas stations in safe
parts of town will sign up. As a result, actual losses will be more than 1 in
100. If the company responds by raising its premium, station owners will
drop their policies until only the most crime-prone stations are left in the
program. If adverse selection cannot be limited, the risk may become
uninsurable.

Underwriting. The insurance industry’s chief weapon against adverse
selection is underwriting. In the insurance world, this means classifying
potential policyholders into groups according to risk, setting premiums for
the groups based on the degree of risk, and rejecting applications that
exceed certain levels of risk. In the case of robbery insurance for gas
stations, an underwriter for one company might decide to base its
premium on a 1-in-100 chance of loss. He or she would check each
application and reject from those stations that were judged to be above-
average risks. A second company might set a higher premium and would
thus be willing to sell policies to stations with greater exposure to robbery.

Selective underwriting can be found in every area of insurance. For
example, life insurance companies classify applicants by age in setting
premiums. They often charge lower premiums to nonsmokers than to
smokers of a given age, and they often try to avoid high-risk cases by

requiring applicants to pass a physical exam.
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11. Find the words or expressions in the text which mean the following.

a) a state of affairs in which a policy holder will suffer if a loss takes place;

b)the danger that a policyholder will fake a loss in order to collect a claim;

c¢) in insurance, classifying potential policyholders into groups on the basis
of risk;

d)the fact that people who are more likely to suffer a loss also are more
likely to buy insurance;

e)the danger that a policyholder will allow a loss to take place through
carelessness;

f) anything that helps to avoid high-risk cases in life insurance;

g) anything illegal that some people do to collect a claim.

12. Answer the following questions about the text.

[E—

. How can you interpret the fact that companies require a policyholder to
have an insurable interest in the risk?

. What factors make some kinds of insurance costly or even impossible?

. What is the difference between moral hazard and morale hazard?

. What does adverse selection refer to?

. How can adverse selection be avoided?

2
3
4
5. What may adverse selection lead to?
6
7. What does underwriting involve?

8

. How can selective underwriting be realized in life insurance?

13. Find opposites for the words highlighted in the following passage and
synonyms for the words in italics.
Lloyd’s of London

Lloyd’s is a unique insurance market. Almost anything can be

insured, from fleets of ships and aircraft to supertankers and jumbo jets.
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While these risks are derived from the marine insurance for which Lloyd’s
i1s famous, risks of every conceivable description can be covered. Lloyd’s
underwriters deal with burglary cover, loss of profits through fire, and
motor insurance, etc. One in six private motorists in Britain is covered by
Lloyd’s policies.

Lloyd’s underwriters also have a reputation for insuring the more
unusual risks such as injury to a concert pianist’s hands or a winetaster’s
palate.

Lloyd’s is not a company. It has no shareholders and there is no
corporate liability for risks insured there. The underwriters, operating in
syndicates, accept insurance risks for their personal profit or loss. They are
liable to the full extent of their private fortunes to meet their insurance
commitments.

Lloyd’s underwriters do not have contact with members of the public.
Business is taken to them by accredited insurance brokers who negotiate
the best possible terms for their clients. The brokers may choose to place
the business with one or other of the syndicates, or with an outside
insurance company.

When Lloyd’s brokers receive requests for insurance cover, they
make out ‘slips’ — folded sheets of paper setting out the risks to be covered.
They then approach one of the underwriters expert in the particular type of
cover. The premium rate is then negotiated and, if the broker thinks the rate
might be better, a second underwriter is approached.

An underwriter who accepts the contract signs the slip thereby taking
a proportion of the risk for the syndicate. Having established the premium

rate for the risk, and armed with this ‘lead’, the broker will now approach
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other syndicates to get their acceptance for the remaining portion of the
business. As each underwriter accepts the business on behalf of a syndicate
the slip is signed, indicating percentage of the risk the syndicate is prepared
to cover.

The relationship between broker and underwriter is based on good
faith, and the underwriter knows that the broker will have disclosed all the
material facts honestly and fairly. In return the underwriter will assume
liability for claims as soon as the signature has been added.

The history of Lloyd’s goes back to the late seventeenth century.
Edward Lloyd encouraged ships’ captains and merchants to meet in his
coffee house, and out of their conversations arrangements were made to
insure their ships and cargoes.

14. Complete each of the following sentences with one of the words given

in the box.
Cargoes  major proportion broker
cover commitment  risk signature

1. Once a Lloyd’s underwriter has added a ... signature to the ‘slip’ the
contract is bound to be honored.

2. The relationship between the ... and the underwriter is based on good
faith.

3. Both goods and ...can be insured at Lloyd’s.

4. The underwriter accepts the ...on behalf of the syndicate.

5. Each syndicate will accept an agreed ... of the risk.
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6. The broker will try to get ...for their clients at the lowest possible

premiums.

7. The ... of motorists in Britain are covered by a Lloyd’s insurance policy.

8. There is no limit to the extent of the underwriters’ liability to meet their

... under the policy.

Essential words and phrases

Adverse selection

To allow for

To amount to

Bargain

Collecting

To cover

Coverage

To determine

To drop policies
Exception

Exchange

To fake

To fit requirements

To be in force

To handle

The law of large numbers
Liability insurance company
To make up

Margin

HEOJIaronpusTHBIN 0TOOP
PUHUMATh BO BHUMaHUE, YUYUTHIBATh
COCTaBIISITh CYMMY, PaBHSTHCS
BBIT'OJIHASA CHEJIKA, IOTOBOPEHHOCTD
B3BICKMBAHHE

MOKPBIBaTh, CTPAXOBaTh

MOKPBITHE

OTIPEIEIISATH

IIPEKPATUTh CTPaXOBaThCs
HCKITIOUCHHE

oupka

¢dbabpuKoBaTh, MOACIBIBATH
yIOBJIETBOPATH TPEOOBAHUSIM
JIEHCTBOBATh, OCTABATHCS B CUJIC
peryaupoBaTh, KOHTPOJIHUPOBATH
3aKOH OOJIBIITUX YHCEN
aKIIMOHEPHAs CTpaxoBasi KOMITaHMUSI
BO3MeEIIaTh, KOMIICHCHPOBATh

pUOBLIH
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Moral hazard

Morale hazard

Mutual insurance company

Network

To occur

To offset

In the ordinary sense
To pass a physical exam
Pooling risk

To predict

To pull out
Reasonable

To refund

To reject

To respond

Round trip

To seek

To sign up

To suffer loss

MOPAJIbHBIN PUCK, MOPAJTbHAS
OMACHOCTb (PUCK, CBSI3aHHBIN C
HEJ1I00POCOBECTHBIM MOBEICHUEM
3aCTPaxOBaHHBIX JIFOJICH)
MOpaJIbHAsI OMTACHOCTD,
MIPOUCTEKAIOMast U3 Oe3pa3Tudus
3aCTPaxOBAHHOTO K BO3MOKHOCTH
BO3HUKHOBEHHUS yiiepOa
CTpaxoBas KOMIIaHUS Ha B3aUMHBIX
Havajax (BMECTO aKIIMOHEPHOTO
KanuTajla UMEeT MaeBOM KaruTan)

CETh
UMETh MECTO, IPOUCXOIUTH
KOMIIEHCUPOBATh, BO3MEIATh
B 0OBIYHOM CMBICIIE CJIOBA
MPOUTH MEIUIIMHCKOE 00CTIEIOBaHNE
BEPOSITHOCTh PHUCKA
IIPEICKa3bIBATh, IPOTHO3UPOBATH
BBIXOJINTH U3

IIPUEMIIEMBIN, 10CTATOYHBIN
BO3BpalaTh, BO3MEIATh
OTKJIOHATH

pearupoBarb

yTeIIeCTBUE TyJ1a U 00paTHO
UCKATh, CTPEMUTHCS
3aCTPaxoBaThCSA

HECTH y1epO, yObITOK
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Surplus — M3JIUIIEK, U30BITOK,

HepacnpeaeaéHHas MpUObLIb

To take on — Oparth Ha ceds

Trait — XapakTepHas yepTa, 0COOEHHOCTh
Underwriter — aHjepanTep

Underwriting — aHJAEepalTHHI, IPOLIECC MPUHSITUS

CTPaxXOBOI'0 PUCKA, BKIIOYAOIIUN
0oTOOp, UCKIIFOYEHHUE U KIaccuuka-
LU0 PUCKOB, ONIPEJICIICHUE CTABOK
CTPaxOBOH MPEMUHU, MPOIIECC
PacCMOTPEHUS NPEIJIOKEHUN HA

CTpaxOBaHHUE
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